BREWER MKII Spectrophotometer Maintenance and Service Manual

BREWER MKill
SPECTROPHOTOMETER
(DOUBLE SPECTROMETER)
MAINTENANCE AND SERVICE MANUAL

MM-BA-C231 REV A, Oct. 30, 1998

SCI-TEC Instruments Inc.
1503 Retcher Foad
Saskatoon, Sask. , Canada
S/MBES5

Phone 306-984-0101
Fax 306-978-2339
Enmail; info@sci-tec.com




BREWER MKIIl Spectrophotometer Maintenance and Service Manyal



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

TARLE OF CONTENTS

PREFACE

1.0 PURFOBE AND APPLICATICN

20 BEQUPVENT RECLUFED

30MAJOR ECIIRVENT FAILURES

31 "No CGperationt* Condtion - No Power Indication

32 Trautle Shoating Sequence for "Np Cperationt” Corition
4.0 OPERATING TEST FALLFES

4.1 Prelimirary Informetion

4.2 Desaiption of Meroury Larmp Clrouit

4.3 Traukle shooting Procedures for Meraury Lamp Cirauit

431 Meroury Larmp Replacerment
4.4 Description of Sarcerd Larmp Qroit

4.5 Desaription of Sandad Lanp Failure

4.6 Troudle-shooling Prooedunes for Sardard Lamp Test Failure

4.6.1 Serdard Lamp Redacement
4.7 Desgiglion of Light Detection Systern (Rabe) Falure
4.8 Trable-shodting Procedures of Light Detedian Systern
4.9 Description of Sirmesk/Sepping Motor Contrd
4.10 Desaiption of Fhoton Counter Qrauitry

4,11 Description of High Soead Ap Board

4,12 Desiption of Reterreter, Termperature Monitor 8 High Valtege Cirouits

4,13 Desoription of Red Time Gock & AD corverter Cirouits

10

10

1

12

13

13

14

14

15



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

50 TEST FESLLTS OUT CF SPECIACATICN 16
6.0 CPTICS CARE ANDCOLEANING 17
61 Optics Care 17
62 Oplics Geaning 17

7.0 BRENVER REERENCE DOCUIVENTATICN 1

]

Section 7.1 Overall Assarrbly and BExtemd Cabdes

- Gorfiguration Cortrd Clagrams

- Brevwer Systerms Draning BS-C1000

- Brawner Assarhly BAC231

- Option B Kit CB1 (Adinruih Tracker)

-Cption CHIt VB Installalion C114

- Poner Cadle (derrel) W12

- Data Cable (Exderd) WEB

Baac&aeleCﬁz

Boctrorics Spares Kt 222

—Trai«a’SadTne{lmetrslala:m

Seaction 72 Poaer Sudly and Hamess
- Main Poaer Comect Calde Assarmbly
~ VEIN poner Intercormect Assenty
- VEin Poaer Sugdy Asserrbly
- Poner Sumly data shect

- Vain Lanp and HV Cade assermily
- Hv board to PMIT Cabdle assenily

225588889 RUBBLE 2BBBBYRNBG

Sedlion 74 Bedrorics Schermatics
- \ViEin Becirorics Board Scharrelics
- Lamp Contrd Bectronics board Sdherralic
- Hgh Vditage Viodue Schervetic
- High Voitage supply Deta Sheet
- Hurridity Serecr Deta Srest

BBABH D

Secian 7.5 THs sedlion is nat apadicale with New Blecrarics

Section 7.6 Odlics
- Instrument Grlics
- Foreoptics RO
- lanp F36
- IRS Achetor F106
- Zenith Dive F114

AAGRBR



BREWER MKIIl Spectrophatometer Maintenance and Service Manual

76.3 SpedraTeter S120
- Sitmesk Motor $128
7.64 Protormutticier PO1
- Tube Asserrily P2
- Hgh Spesd ATp P23
- Hgh Speed Ap Board Scherrdtic
- Dynoce Chain P25
- Protomutifier Housing Assy P42 (VKIV Oty
Section 7.7 Brewer Odions
7.7.1 Qdtion B - Azimuth Paining Systern
- Agimuth Tradker and Stard
- Adimuih Trader Unit Scherretic CO1
- Adinnuih Tracker Board Schamdlic
- Adinuh ivbtor Winng W20
- Adimuth Power Supdly Spedfications

772Con C- UVBFB1

7.7.3Heeter Option - G223

Section 7.8 Mein Bectranics Amware/ Corfiguration Loeding prooedures

AANNRINIB

3

@ JFAIN

B8



BREWER MKIIl Spectrophotorneter Maintenance and Service Manual

MANUFACTURERS GUARANTEE/ WARRANTY CERTIFCATE
NEW PRCOUCT WAFRANTY AND UMITATICN OF LIASLITY

SCHTEC instruments Inc. hereby wamants o its predudts o e free fram defedts inreteriad ad
workrmanship for a period o one year frondate of purdnese,

SO-TECs cdigation under this warranly is stridly and exdusively lirrited to repeining or replading, at SCG-
TECs disoretion, any such equipent and/ or parts thereof which Feves failed under ronral use ard sendice,
BExpresdly this waranty does nat apdy to any equipment and/ or parts which Fenves been inrprcperny instalied,
been subect to aluse, negedt and/ or aoddert.

Theforegairgwarrantyis inlieu of any dher wamanties, exoressed orirrdied, indudingwithout linvitelion, ary
imdiedwarranty of merdhertebility or fitness for a particular punpose, and of any alher aoligations of liskdlities
whetsoever in any evert for payment of anyinddertal or consequential dameges, inducing, without imitation
darmages orinuy o a perscn or propenty.

An authorizaion must be dotained friom SCHTEC prior to the relum of any equipment or perts theredf.
Retumned meteriad is to be umed to the fadiory, or alher location as may be directed by SO-TEC, freight
prepaid and will be retumed freight prepeid. SC-FTEC s nat respansible for any transportation, insuranoe,
demumage, brokerage, dulies, or caunalor charges, elc

This varrarty isgven tothe aigirel purdheser and mey not be transferred without direct witten oorsent of
SOTEC

Shoud an edended wamarty be purdhesed, then the aforementioned inits eniraty is apdiicallle for the entire
period of time covered by said edended varmarty.



BREWER MKIll Spectrophotometer Maintenance and Service Manual

PREFACE
This document has been developed to aid an operator when a Brawer
Spectrophotometer stops operating or has changed in operating
specifications after {eaving SCI-TEC Instruments Inc. (SCI-TEC). It has
been developed from the experience of SCI-TEC and present users. The
most likely electronic failures and ones which can be repaired in the field
have been documented in this manual. Any suggestions on
improvements to this manual would be appreciated by SCI-TEC.

1.0 PURPOSE AND AFPLICATICN

The purpose of this manual is to help the operator dagnose problems
with a Brewer Spectrophotormeter down to an assembly level, though nat
recessarily to a component level. The reason is that some corrponents
in the assemblies will affect the cdibration done at SCI-TEC, and
replacenment of these may require instrument realignment or re-
calibration.

The inforrretion in this manual mey be applied by reading the procedures

and referring to the corresponding drawing located in the badk half of this
document.

There should be no potentiometers adjusted or set screws removed
without corpletely defining the proldem area. If the infometion in this
document is not sufficient, it is recommended that the user contact
SCI-TEC before dismantling of any mein and sub asserrblies.

20 BQUIPNENT REQUIRED

1) Volitmeter, either analog or digital, capable of measuring from 1
millivalt to 2000 volts DC.,

2} Chrmmeter primarity used for checking contiruity of cables.
3) Adlip on or irdine current meter.

4 A digital VOM within line current capabilities of 2 amps is sufficient,
rather thaniterms 1,2, and 3. e.g. The DVM supplied with an extermnal
UVB Lamp is good and can be used.

5) An osdilloscope may be required (1 millivolt; 20 megabertz bandwidth).
6) An external LWVB lamp is very useful when the intemal standard lamp
appears at fault.

7) A second computer is handy to have available in case the control
computer is susped.

8) Atenmminal communications program such as Tdix, Procormm, Xialk or
Windows Terminal



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

3.0 MAJOR EGLAIPVENT FAILLIRES

A major equipment failure is defined as being a condition where the
operator finds there is no communication between the Brewer
Spectrophatometer and the exdermal 1BM compatible personal conmmputer
(PC). No commands will go to the Brewer and no information is received
by the PC. This can be defined as a "no operation” condition.

3.1 "No Operation” Condlition - No Power iIndication

It is assumned the BREWER has power as indicated by the GREEN LED
light on the instrument. If the light is nat illuminated, check that AC power
conmections to the BREWER (reference Sediions 7.1 and 7.2), are
correct. If there is still a no-power condition, then rermove the BREWER
top cover and check if MAIN power supply cover is wanmer than ambient.
If the cover is not warmer than the instrument, then perhaps the fuse
recuires replacerment, (reference fig. 7.2-2) Check the two visible fuses
next to the power supply cover and item 21 fromfigure 7.1-3.1. Ensure
the AC power is disconmnected. If any of the fuses need changing,
exchange with the appropriate replacement. To chedk the fuse inside the
power supply, first disconnect AC power to the Brewer and then remove
the MAIN power supply cover (four 6-32 screws) and measure or visually
inspect the fuse and replace if necessary. When re-installing the cover,
ensure the connectors P1 and P3 remain connected. If the power supply
appears to be normal, then perhaps the LED is defective or a connection
is faulty. The main power supply voltages are best checked at testpoints
on the Main Bectronics board 23 (reference chart Pg 5). When the
cortral computer is given a RESET (RE) command, then the Brewer
should respond with the fallowing message to the PC or printer:

BREWER OZCNE SPECTROPHOTOMETER.
H#rrrom
AES SCI-THT
CANALA

VERSI(N 1 Jan 01, 1998

If the instrument does nat reset, the problemis nonrally in the Brewer.
However the PC software can get cormupted so it may be necessary to
check that the proper software is installed.

NOTE 1: "SOFTWARE RESET" is used to indicate that the reset
instruction (RE) should be issued to the Brewer microprocessor from the
contral computer.  Thiss instruction causes a hardware reset to be
generated, (a very long "break" on the line).

NOTE 2 The Brewer PC RS422 Communication is set to 1200 Baud
soon after the programis run.



BREWER MKl Spectrophotometer Maintenance and Senvice Manual

3.2 Trouble Shoaoting Secuence far "No Operation™ Condition

a.} It has been established at this point that there is absolutely no
ocommLnication between the PC and the Brewer.

b.) A software reset shouid be attermpted after the message "Brewer
Failed to Respond” appears on the PC monitor. This is done by pressing
RETURN key on the PC. If this fails to establish communications the PC
should be re-boated by tuming the povwer off and on.

c.} If there is still no response, the cables should be inspected to ensure
that a connector has not been inadvertently rermoved or accidently pulled
out of place. The Data cable to the Brewer fromthe PC as well as the
power cable to the Brewer should be checked. All caldes involving the
linking of peripherals should be checked to ensure they are plugged in as
well. After this has been done another software reset can be done as
indicated on the PC.

d.) You can check to ensure that the computer serial port is operating
correctly by running a serial comrmunications program such as Telix or
Procomm Remove the RS422 adapter fram the back of the computer
and connect pins 2 and 3 of the computer serial port together. VWhile
nunning the communications program in full Duplex mode you should see
characters echo back on the keys you just typed. Now disconnect the
conmnection to pins 2 to 3 and continue typing, you should not see any
characters echo back on the computer screen. You have just confinmed
that the computer serial port is operating correctly. If the cormputer did not
echo the characters, the computer serial port is at fault and you must get
the computer repaired before any further tests are done. Meke sure the
serial communications program is on the correct baud rate of 1200 bawud
and that you are selecting the correct serial port. Refer to the
communications program manual for correct operation.

2.} You can now test the functionality of the RS422 adapter at the
cormputer by removing the cablle from the RS422 adapter and connecting
pin 1 to 3, then typing kays similar to d.) and switching connections to pin
2 10 4 and testing again. Disconnect the wires and you should see no
characters echoing back. The R3422 adapter is operating coredctly if the
previous tests are the same as cbserved in d.). if nat then either the
RS422 adapter or the power adapter is at fault. Using a voltmeter, check
the output of the power adapter. There should be approximetely 9 vdts
measiured by the voltmeter. If the voltage is nonmal, then replace the
present unit with another RS422 adapter and test again. If the tests have
passed to this point, then you can test the cabling up to the Main
Hectronics board. Reconnect the cable to the RS422 adapter and
connect it back to the camputer. At the communications cable connecting
to the suwrge arrestor box mounted below the Tracker, remove the
connection and connect a wire jurrper from C to B. Test it similar to d.)
and then move the jurmper to | o J and test it again. If this section passes
the test, reconnect the cable and disconnect the communications cable at
the Brewer. Again using wire jumpers connect pins Cto Band later
switching to | to J using the procedure in d). If the test passes, recormect
the cable to the Brewer and open the cover of the Brewer. Tum the
power off at this time and disconnect the IDC connector J7 and agiain use
a srmali wire jumper to connect pins 2 to 8 and later connect pins 4 to 6.
The pirs begin fram 1 at the triangle starmped on the side of the
comnector and increment in odd numbersonthe samerow (1, 3,5, 7, 9
onthefirstromand 2, 4, 6, 8, 10 on the next row, in the same direction).



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

Confinmn correct operation with the serial communications program similar
to d.). If the test failed at any paint of this cable test procedure, the faulty
connection should be repaired before proceding to the next test. Isclate
the location of the break or incorrect wiring using an chmeter. if all of
these procedures have been tested pasitive then the problemn lies in the
Brewer Main Hectrenics Board. Reconnect all the cabling to the
instrument and continue to the next test. An altemative test is that each
line can then be measured paint to paint with a ahmmeter. It should then
be repaired or replaced if there is a problerm. The resistance through the
surge arrestor is 10 dhs so that a typical resistance coud be 12 ohms
from the RS422 adapter to the |IDC comnectar at the Brewer Main
Bectronics board.

f.) Does the Brewer reset?

1.) if the reset of the motors is heard and seen, but there is no message
sent to the PC, then there is a possibility thet, even though the cables
between the PC and the Brewer are comnected, there may be problem
with the line driver chip on the Main Blectrorics board, Ensure the power
is tumed off and remove the Mein Blectronics cover plate and replace the
IC, U11 which is on a socket to alow replacerment. Make sure you ground
yourself to one of the metal brackets on the instrument before touching
the electronics board. Leave the cover plate off and tum on the
instrument. The motors should be cbsenved to reset and if your computer
was left in the serial communications program, you should see the
Brewer reset message displayed on the screen of the serial
communications program. The problem is now solved and you can exit
the communications program and run the Brewer operating program.
Check for correct operation using the nomal commands.

f2.) A software reset should be attermpted after ensuring all connections
have been made and Brewer power is on.

3.) If there is still no operation, there may be a firmware problem where
an error has caused the microprocessor board to go into a differert
operating state. The next section will go into the troubleshooting of the
Main Electronics board.

g.) If there was no reset of the motors, there is an indication that a failure
has occurred within the Brewer itself, now the functionality of the Viain
Hectronics board can be tested.



BREWER MK Spectrophotometer Maintenance and Service Manual

h.} Look at the LED light located near the battorm left hand side of the
board, it should be flashing slowly in Cosmacmoce. Refer to the fallowing
table for the dfferent modes of operation.

LED Mode indication 1/4 1/4 1/4 i/4 1/4 1/4 174 1/4
sec |sec |sec |[sec |sec sec | sec | sec

Cosmacrmode normral on | off off off on |(on |on |of

operation

Cosmaamode with on |of off off on off on off

corfiguration missing

Loadrmode weiting forcode to | gn off on off on off on off

be downlcaded

Loadmaode with bad flash on on on on off off off off

mearory

Loadmode with good flash oh on on on on on on off

memory

Oomode with corfiguration on on off off on on off off

present

Oprode without corfiguration | gn on off off on off on off

present

Checking Aash memory on off oh off off oft off off

Cranging fromload to on |on |(on |ohn |on on |(on |on

cosmac or load mode

i.) If the motors are observed nat to reset and the Brewer message has
nat been received, then the carrect voltages should be confinmed for the
pover supply on the Miain Hectronics board

i1.) i noflashing led is displayed and the motors did not reset, confirm
the power supply values on J23 with the fallowing chart

Conmreclor J23Monitorpaints | Fin (AN | AN [Fn (BN | An | Fin [ Ain | An
1 2 3 4 5 6 7 8 9
Sv Sv Sv | 12v [ 12v | 12v | 24v | 25v | 4.5v

i2.) If the voltages are similar to the above values or the values in the final
test record, then continue to determine the mode of operation and to
change back to the Cosmacmode.

j-) If the power supply values have changed, or missing altogether, the
povwer comnections should be checked. If they look as though they are



BREWER MKIII Spectrophotometer Maintenance and Service Manual

nomal, and the voltages are still not at proper levels, replacerment should
be considered. However there may a short dircuit in one of the
assemblies causing the power supply to be lcaded.  Shut the power off
and disconnect the power connector J1 from the Viain Hectronics board
ard fromthe J4 Larmp contral board.  Repeat the voltage measurerments
at the connector and see if all the voltages are present. If the voltages
are correct then detenrine which assenrbly is at fault by installing the
conectors one at a time.  Replace the main power supply if necessary,
ard ensure when first tumed on that the assemblies are disconnected to
allow setup of voltages to corect values. The main 5 vats monitored at
the main board should be set to 5.0 volts with the sinde potentiometer on
the main power suoply.

k.} If the flashing LED on the Main Hedtronics board indicates that it is
nct in the cosmac mode, then the procedure to change it back to cosmac
mode is described below:

Exit the serial communications program and change to the subdiredtory
c\bdata\nnn. Type BREWCMD [  and corfimm that the instrument has
responded and observe what mode it has come up in. The program will
display the same mode as the mode dbserved with the LED lights. Refer
1o section 7.8 for a more detailed procedure.

i the mode is cosrmacmode type loadmode [ | the display should
retum indicating it is in loadmode. Now type opmode (] and within a
few seconds it will be in opmode. Now that it is in cpmode, we have some
toals to determine if there are any faults leading up to the prablerm. Type
readlog [ todisplay past eror history, each line displayed will be a
possible due to the problem that caused the failure. f motor failures have
occurred, the status will tell you which motor and what the failure is.
Usually it is a sensor problem or a wiring problem that prevents the
motor from resetting. If no problems are displayed, then the systerm can
be placed back into cosmacrmode for further testing. In order to retum to
cosmacmode, the system must be placed in loadmode by typing
loadmode (=]  fallowing the status prompt that it is in loadmode type
cosmacmode [ . The motors will reset and within a minute the
system will display the status that it is in cosmacmode. Quit the Brewcrmd

pragram by typing quit ]

1.) Run the Brewer operating program by typing BREMERE™] o check
the correct operation of the instrument.

m.) Select certain routines that you are familiar with and ensure that all
functions and data appear nonmal.

rn) K no communications retum when running Brewormd then thereis a
fault that cannct be repaired by the Breser operator. Replace the Main
Blectronics board with a spare board. Ensure all cables removed are
reconnected to the original connectors. Normally the spare Main
Hectronics board is prelcaded with the same parameters as the onein
the instrument. Therefore no reprogranming or uploadng of the
corfiguration parameters are needed. If the configuration parameters
have changed, then refer to the procedure to upload new fimmware and
configuration data to the board, section 7.8



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

n.}) If communications to the PC are restored but problerms are still

experienced for lamp output or highvoltage or pulse counting, go to
section 4.0 to further check for problens.

ACOPERATING TEST FALURES

In the Brewer Spectrophotameter, most of the operating tests are done
using either the mercury lamp or the standard lamp. If any of the other
tests fail, the user should proceed immediately to & mercury lanmp test

(HG) or a standard larmp test (SL).

Amercury lamp test failure or a standard lanp test failure are two major

failures which can occur. In both cases calibration of the instrument may
be affected. For the purpose of troubleshoating, these two sections have
been separated from the main part of the instrument.

The: Light Detection Systemn, is made up of the zenith prism, foreoptics,
spectrometer, slitask and slitmask electronics, PMT, High Voltage
Gircuitry, High Speed Amp (considered to be part of the PMT)
interconnecting hamesses between these units, and finally the Main
electronics board which houses the photon counting cirouits. Without this
section being operational, No testing, or measuring can be done.

4.1 Preliminary Informetion

There are a few points to remember in the event there is amgjor failure
somewhere in the systern, whether it is the Meraury Lamp, Standard
Lamp, or Light Detection System.

a) The ermor message "lamp not on test temminated’ isan
indication of a failure, either in the lamps or in the Light Detection
System.

b.) Changes in dark count may be symptomatic of a number of problems
which may ocour in the Bremer. [If it begins to increase or becomes
erratic, the ditmask may be causing the fault. Note the dark court
increases with temperature. It may also indicate motor power supply
problerms. It can also be used as a monitor for PMT performance. If the
dark count changes, there may be a changing optical condition in the
Light Detection System. A higher dark count can also be the result of a
poor ground sormewhere in the systerm or high humidity inside the
instrument. Grouncing connections should be checked especially
between the PMT housing  to the Main Blectronics ground and charnge
the desiccant for high humidity locations more diten. These itermns are
more applicable in the next section (5.0) but they may be useful in this
instance as well.

42 Description of Mercury Lamp Cirouit

See Figure 7.4-2 for the schemdatic. The Mercury lamp dircuitry is a
constant current source designed 1o keep the current constant throughout
the termperature range of the instrument. A voltage regulator connected
to a spedally selected resistance wire regulates the lamp current with
mininal drcditry while innproving on the performance of the previcus
design. In this way the lanp dircuit is regulated.



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

4.3 Trouble shootingProcedures far Mercury Lamp Gircuit

a ) The Mercury lamp test Fails and software responds with “lamp not on
test terminated”,

b.) Retry the: test and look through each viewming tube to see if the lanp is
on. Ensure the zenith prism and the filter wheels are in the comect
position. Coserve temperature of instrument. If Brewer termperature is
less than -20 degrees Cdsius, the larmp may be  too cold and may not
start illurinating. Al that may be reauired is to tum on the Standard
Larmp which will warrn the Mercury lamp in extremety cold environments.

c.) If the lampis on, check filter whedl positions (1,0).

c1) If the lamp is not on, there is a possibility of a lamp failure, The first
step is to perform an AP (A/D voltages printout) test and compare the
results with previous tests. Pay particular attention to power supply and
HV vdltage. The second step is to measure the vdtage across the lamp
at pins 6 and 9 on P111. {Reference Section 7.6-2.2). The valtage should
be approximately 0 valts with the lamp off and 13 woits with the lamp on.

If the vdtage is approximately ecuial to 17 vots, the lamp should be
replaced.

431 Mercury Lamp Replacement
c2.) Before starting disassembly, ensure that the lammp is definitely open
circuited with an ohrmmeter across pins 6 and 9 of J111 (larrp
connector), ensure P111 is discomnected. To replace bulb, locsen the
two thumb screws (item 6, Fig 7.6-2.2) and carefully withdraw the lanp
hdolder. Inspect the lamp and replace if defective or has blackened in
cdlor. . The SL lamp should also be checked at this time for blackening
which could reduce the amount of light from passing through to the fore
optics. Do nat touch the lamp with bare hands, use a tissue or soft doth.
Ensure the lamp is tight in its socket and deaned with alcohdl after
assembly. Re-asserrhle the lamp by reversing above steps and test the
lamp with B1 and HG commands

If there is no vdtage across the lamp in the initial measurement, the next
step is to monitor the test point while using the Brewer software from the
status (ST) menu.

d.) Bemove top cover and spectrometer cover and check to see
micrometer has nat shifted (refer to final test record for the calibrated
seiting) or the sheet attached to cover. A manual check to ensure
micrameter setting is in the correct position is to set filters to position 0,0
(filters out position). Cornect a vdimeter to the ratemeter test point E23
on the Main Bectronics board and manually scan the micrometer from O
mmto 10mm  Assuming the slitmask is in HG position (0), HG the lanp
is on, and zenith prism is painting to the lamps then the valtmeter should
indicate peaking counts at 3 positions which are the mercury lines. The
micrormeter should be left in the position of the second largest peak; from
the Onmm end of the micrometer. This is the proper position to start a HG
test for Czone/SOR measurements and which should have a successful
conclusion.

a.) At this time another complete mercury lamp test should be atternmpted.
If this test is successiul the problem has been located and test resuits
should be accurate. If not there is still a possibility of a PMT failure,
slitmask fallure or optics failure.



BREWER MKIIl Spectrophotormeter Maintenance and Service Manual

1.} Attemt a standard lamp test. The standard lamp has a much higher
intensity and does nat depend on the position of the micrometer and
slitmask as much as the mercury lanp test.

1.} If the standand lamp test operates correctly, the printout should be
exarmined carefully to see if any characteristics have changed. If the dark
court has increased significantly, this may be an indication that the
alignment has changed and may require a mimor adustment. Check to
see if any of the intensities or ratios have changed, which may indicate,
that the optics have deteriorated, or the PMT performance or courting
has degraded. If the standard lanp test appears to be nommal, it is
advised the user contact SCI-TEC before proceseding.

f2.) if the standard lamp test is nat operational, then it can be assumed
that, either there is an optical fallure, or a PMT failure. If the mercury
larmp test is normnal while the standard lammp has failed, this usually
indicates a prcblem with the lamp and the drcuitry that controls the lamp.

g-) The high valtage should be measured using a voltmeter and lodking
at test point E16 on the Main Hectronics board. There shaud be a
voltage between 2.5 vaits and 5 voits, which has been factory set (see
final test recond for the setting), and should Nnot be adjusted. This voltage
is equal to the actual high vdtage divided by 409 . There may be a
variation of a volt or two of the high vditage, but the valtage at testpoint
should be identical to the final test record value. If they are significantty
different, or rrissing altogether, the high voltage circuit may have failed.
This will require a skilled technician for repair or SO-TEC should be
contacted.

h.) If the high voltage appears to be present from the monitor testpoints
described in item g, there is a possibility that something has failed in the
Light Detection Systern, reference Section 4.7.

44 Description of Standiard Lamp Cirouit

The standard lamp current regulator is the same as the Mercury lamp
circuit except the resistance wire is chosen to regulate the supply curent
with less vaniation than the mercury larmp. The circuit keeps the operating
current within 3 milliamps over a range of -20 to + 40 degrees Celsius
and has a more stable currert in the range of 10 to 30 degrees.

45 Description of Standard Larrp Failkure

The standard larmp is the larmp most used in all of the tests called L by
software. Without it, it is impossible to ensure calibration and proper
operation of the Brewer Qzone Spectrophatometer. Therdfore an extemal
UVE larmp can be very useful in two areas:

1) As a reference to monitor any changes in the standard larmp itself.

2) Inthe evert that the intemal standard lamp stops operating, the
external standard lamp can be used as the reference.

The software for the standard lamp has been designed to give an error
message in the event of afailure. The message is "Lamp not on test
terminated”. This may not necessarily be the case. There are cther
factors which can cause a standard lamp failure, even though the lanp
remains on. These areas indude PMT performance, filterwheel position,
Zenith prism position and photon counting electronics as well as /O
electronics used to tum the lanp on and off.



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

4.6 Trauble-shoadting Procedures for Stanclard Lanp Test Failure
a) Error message, "Lanmp not on test temminated”.

b.) Retry the test andif the light is on, it should be seen through the
viewing ports to ensure zenith prism is in the proper position. Performan
AP (A/D vdtages printout) test and compare results with previous tests,
pening particular attention to standard larmmp curent and valtage. The
current channel 14 will go to zero of very dose to zero and voltage
channet 15 will go higher than 14 volts if the larmp is unplugged or bumt
out.

c.) Check to seeif the lamp is on. Try the B2 command which tums the
larmp on manually and check if the filterwheels and theiris are in the
proper position. They should be similar to the positions indicated on the
cormputer display. Retry the test.

c1.) If the test is terminated again.

¢2) Try amercury lamp test. If the mercury lamp test operates correctly,
then the userwill know that the Light Detection System is probably
operating correctly.  If not, a mercury lamp calibration should be done
and the Standard Lamp test should be repeated.

¢3.) If the mercury lamp test is normmal, the spectrometer cover should be
removed and ancther standard lamp test done while observing the
dlitrmasic If the standard lamp fails again while the dlitmask is operating
correctly, SCI-TEC should be consulted.

o4.) If the mercury lamp test is nat nonmal, there is probably a faillure in
the: counting electronics and section 4.7 of this manual should be
consulted.

461 Stancird Lanp Replacament
Before starting disassermbly, measure that the lamp is definitely open
circuit with an chimmeter across pins 1 and 5 of J111 (lanp connector?).
Reference fig. 7.6.2-2, the Standard Lamp is located above the mercury
lamp attached to a rermovalde plate. Rermove the 4-40 flathead screw
(itern 16) and withdraw plate. Reglace the bulb with a new one ensurning
new bulb is not touched with fingers, use a tissue or soft doth and dean
with alcohd after installation. If the bulb is blackend, it should be replaced
regardiess if it is operational or not.
Re-assermble and install connector and test the lamp with the B2
command, BO tums off the lamp.

After this ancther standard lanmp test should be tried. If thereis no
success there is a possibility of circuit failure on the Larmp Cortral board,
or the Main Bectronics board. Send the command to tum the Standard
Lamp circuit on.

e.) Measure the next testpoint, U14 pin 15, The testpoint should switch
from+5 wvdits to O valts as this drcuit is tumed on and off.

1)) If this paint does not change, the Miain Blectronics board should be
replaced if there is a spare unit available. Othernise SCI-TEC should be
consulted.

€2.) After the board has been replaced, ancther Standard Larmp test
should be done.

10



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

e3)) If this test is successful the system should be operating.

4.} If lamp does not come on, following the replacement of the Main
Bectronics baard then SCI-TEC should be consuited.

£.} If there was no indication of a voltage swing at the larmp contrd board,
there is a possibility that either the 1/0 cable which connects of the Main
Hectronics board, to the Lamp Contral board is disconnected or has
becorme defective. It should be checked for continuity, using a chmmeter.
If it is good , the larmp Contral board should be tested for carect
operation, or SCI-TEC should be consulted. The lamp contral for the
starndard lampis very simmple, Q1 pin 2 supplies power 1o the current
reguator VR2. Measure Cr1 pin 2 when the standard lamp is commanded
on, it should be at 17 volts when on. VR2 pin 2 should be at 12 vdlts, if it
is not at the 12 volt level then the current regulator circuitry is faulty and
must be replaced or the complete board must be replaced. Reler to the
lamp contral board schematic Fig 7.4-2

g.) Power can be reapplied, and the Standard Lamp test can be re-
attermpted.

g1i.) if the test is again tenrirated and the vdtage at VR2 did change on
command, then the user should test the lamp cable for continuity.

h.) If the test was suocessiul, the systern should be operating correctly.
47 Description of Light Detection System (Rale) Fallure

A Light Detection System failure can show up in all of the tests that can
be done by the user. In all cases it will be shown onthetenminal as a
“Larmp Mot On Test Temminated" message. However there will be no error
indicated if a direct sun is attermpted, even though the Light Detection
Systern has failed. The system will continue as though there were no
problem

The Light Detection Systerm is the main section of the Breweer, and is
made up of foreoptics, spectrometer, PMT induding the high speed amp,
and the slitmask and micrometer. Adjustments of any of these
assemdlies should nat be attermpted, unless they are spedified in this
section.Instrument calibration may be affected if they are replaced or
readusted.

"



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

4.8 Trauble-shoating Procedures of Light Detection System

a) If all the tests fail, and the message of "Lamp not on test teminated”
is displayed, the user should issue a B2 cammand to tum the standard
lamp on. With the larmp on, inspect the zenith prisim, filterwheds, ins and
lock through the vieming tube to ensure the lamp is on.

b.) if the lampis on, a conplete Standard Lamp test should be done.

b1.) If the test fails, there is a possibility of photon counter dircuitry failure.
Sdlect the Teletype mode T[] in the Brewer program. Ramove the
cover from the Brewer and the counting circuitry tested by turming off the
power. Remove the cable that connects from the high voitage module to
the PMT asserrbly and connect it to the: last connector on the Main
Hectronics Board J22. Tum on the poner and enter the cormmand
R,0,7,20:0u | All the counts should be approximatety 2280140
counts. J22 is a pmt simulator and outputs a constant frequency output of
1 megahertz. Tum off the power and replace the cable back to the PMT
assermbly. Tum on the power to the instrument and then when all the
motors have reset, exit out of TT by pressing the Home Key.

b2.) If the test is nonmal, the system is probabily operating comrectly.
<.) Chedk optics and slitmask, is the slitmask operating comrectly?

c1.} If there is no operation, the covers should be remmoved from the
Brewer and the spectrometer, and the micrometer inspected. It should be
set as listed on the final test records. The gptics shoudd be given a visual
inspection and the slitmask position should be examined. It can be
moved by hand and there should be a "tug” as it moves from one position
1o the next. If the slitmask moves freely from one paosition te the next
without any indication of a halding curent, the 1O cable from the slitmask
mator to the slitmask driver circuitry should be inspected and the
continuity of this cable should be checked (reference Section 7.9). If it is
nomnal, the motor control micro or the mator criver 1C on the Main
Bectronics board may be faulty. if a Main Hectrarics board is available it
should be inserted in place of the dd one, and ancther test attermpted.

c2) If the dlitmask does "pull” into position on each altemate position of
the slits and appears to be aligned to the dlits, and there is still no
indication of counting after atterpting ancther standard lamp test, a
failure in the PMT or pre-amdlifier board, or faulty components in the
foreoptics or photon counter board is possitle.

d.) Remove the cover from the Miain Hectronics board.

d1.) Another standard lamp test should be attenpted. Ensure the
spectrometer cover has been replaced.

d2) If this test is successful, measure the high voltage test point E16 and
adust R4 to the value given on the Anal Test Record. Also monitor high
voltage values from an AP test.

d3) If this test is unsuccesshul and the test paints are still wrong, there
rray be a short in the high voltage line somewhere between the HV
module and the achual PMT dynode chain. Care should be taken when
inspecting this area because there can be as much as 1800 volits at the
connection paints. Check the cable for continuity. The cover can be
remaoved from the PMT and measure the actual high voltage at the

12



BREWER MKII! Spectrephotometer Maintenance and Service Manual

cornector intemal to the cover and next to the high speed amp board.
This measurement must be done with a voltmeter rated for 2000 volts or
use a highvoltage divider probe.

d4.) If the high vaitage is still nat as indicated on the final test records,
contact SCI-TEC.

e.) If the high voltage is cperating correctly, there may be a failure in the
high speed armp board. TP1 on the high speed armp board should read
-30 millivolts or the value recorded in the Final Mianual, (using the HV
comector shield as ground). If it does not have the correct value, an
adjustment of the on board potentiometer can be attenpted. If this test
fails, replace the board, if a spare is available.

e1.) If this test paint is normal, the photon counter cable should be
inspected to see that all connectors are in property and there are no
broken interconnecting wires. Finally if an oscilloscope is available it can
be used to monitor testpoirt TP4 on the high speed amp board, and then
pins 1,2,34, and 12,13,14, and 15 of the SN75114N If these signals are
normal, consult SCI-TEC before proceeding further.

e2) If any of the signals are missing or are not dean square waves,
replace this board.

f.) If all of these tests fail, there is a probable optics fault in the system,
and consult SCI-TEC before proceeding.

49 Description of Slitmask/ Stepping motar control

The stepping motor control circuitry provides for the contral of each
stepping motor through individual maotor rmicroprocessors and stepping
mator driver integrated circuit. This type of motor contrd allows the
system to move the motars simultaneously and to monitor the sensors
more effidenty such that resetting of the motors can be done much more
quickly than the orignal Brewer electronics. All of the motor
rmicroprocessors are controlled by the main processor through a serial
bus called "FC'. Each motor is optimized for speed ard taylored to the
each functionin the Brewer. The configuration file is included with the
control software to allow changes and updates to the system. The
procedure is induded in the disk which contains thoses files. The
corfiguration file is optimized for each instrument and normeally does not
require operator modfications unless recommended by SCI-TEC.

4. 10 Description of Phobon Counter Circuitry

A schematic dagram of the photon counter dircuitry is given in section
7.4-1 page 52 The phatormultiplier signal which has been anpified,
divided and driven by a line driver on the photomuitiplier and pulse
amglifier board is received by a line receiver on the Main Blectronics
board. This signal is fed to a pair of redundant binary counters. The
counters are each connected to output ports which are in tum connected
to the: data bus of the system microprooessor.

The main gate is generated by an electronic circuit that provides a very
precise gating signal to enable counting for a specific width of time, The
microprocessor decides when the pulse counting circuitry is initiated and
the circuitry then triggers the gate to allow counting of the phatons.

13



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

411 Description of High Speed Amp Board

The phatomultiplier and pulse anmplifier board are endosed inside the
photomuitiplier subassembly: The sub assermbly is designed to allow
access to the pulse armplifying dircuitry without upsetting the alignment of
the PMIT or the optics.

The photomultiplier is an BIVE S7B90A type. It is endosed witha
magnetic shield that is at the high voltage patential of the photo cathode.
A small area on the shield is open to allow light to fall on the cathode. A
High voltage power supply provides stepped vdtages to the
photomultiplier through a resistor divider dircuit at the base of the tube.
Because differential themmal expansion between the photomuitiplier gass
and the Teflon base may cause tube breakage under extrerme
termperature conditions, it is recommended that the photomultiplier
housing never be subjected to temperatures of less than -50C or greater
than +60C.

The pulse arplifier board is located directly behind the base of the
photomrultiplier tube. This dircuitry accepts the photon puise signal from
the photomultiplier, anplifies the signal, discriminates the signal level
from current leakage, divides the arnrplified phaton pulses by four, and
findly cutputs the signal on a line driver, because the dircuitry is
extremely sensitive to feedback and RF naise, it is located in dose
proximity to the photormultiplier.

412 Description of Ratemeter, Tesmperaiure monitor & High voltage Cirevits
a) See section 4.2 for description of Mercury lanp circuit,
b.) See sedtion 4.5 for description of Standard lamp dircuit.
¢.) High voltage dircuity.

The high voltage (1000-2000 vaits) for the phatomuitiplier (PMT) is
provided by a DC-DC converter / high voltage contrd circuit board.

d.) Ratemeter.

The ratemeter circuit provides a voltage output of the photon count rate,
It consists of two parts; the transistor charge pump on the high speed
amp board, and the: integrator-amgplifier on the Main Blectronics board. A
transistor is connected as a current pump and driven by one of the
outputs of the JHK flip flop on the high speed amplifier board. The pulses
frorn the flip flop are integrated by an RC network then scaled by an op-
amp.

e.) Tamperature monitor

The temperatura monitor is a temperature sensitive bridge using YS!
linearized thermmistors. The bridge output is amplified to produce a
suitable scale for the A/D comvertor. There are six thenmmistor drcuits
available, one of which is located in a hde drilled in the side of the frort
flange of the PMT housing. Of the ather five, they are used to measure
paints around the instrument as status informnation. One of the sensors is
used to measure the outside temperature.

14



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

4,13 Description of the Real tine Clock and A/D carwvertor

The real time dock drcuit is a battery backed up dock with integral static
rancom acces memory. Alithium battery is used to keep the dock
aperating when there is no power aplied to the Brewer. The dodk also
supports the day date and year and is year 2000 carpatible.

The A/D converter has a 10 bit conversion resdution and is built into the
microprocessor. Analog multiplexers are utilized to select the channel to
monitor. The AP routine is the main rautine that accesses the data and
displays the information on the PC monitor or saves it to afile or prints it
on the printer.

15



BREWER MKIIl Spectrophotemeter Maintenance and Service Manual

50 TEST RESULTS OUT OF SPECOIRCATION

Whenever any tests are out of spedification, (HG DT, RS, Standard
Larmp,) the fallowing should be done or considered.

a} If the deadiime has increased or decreased sigrificantly, the slitmask
mey have become misaligned, or a ground in the instrument wiring may
have become resistive. In either case, bath items should be carefully
inspected. Also high humidity inside the instrument may cause abnonmal
deadtime results.

b.) Lamp cutput may have deteriorated, and the lamps may require
replacerment. They can be inspected as mentioned in the previous
sections and replaced if a spare assembly is available.

c.) The optical surfaces within the zenith prism may have become

smudged with a fingemrirnt or may have become dusty over a period of
time. tt should be deaned, refering to section 6.2

d.) The micrometer may be "sticdkdng" and nat in its exact location after a
Mercury Lamp test. It should be inspected and the driving gears may
have to be carefully deaned with tissue and a little alcobhal.

e.) Dark ocourt , is a very good characteristic to monitor which is printed
out in most tests. VWhen the dark count of an instrument changes, o
becomes emralic, a slitrask Run-Stop test should be done to see if there
are any changes in the slitmask dircuitry. If this does not give any
indication of the prablem, there may be a ground somewhere which has
becorre resistive, and it shoud be checked.

f.} The High vdtage test can be done, and the resuits compared to those
in the Anal Test Records.

g.) In hurrid or wet ervironmentss, the top cover should be removed
periodically, to check desiccant condition. The base and spectrometer
desioccants can be removed and dried ovemight at approxdmately 60
degrees Cif necessary.

h.) If these fail, SCI-TEC should be consulted as to further investigation.

16



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

6.0 CPTICS CARE AND CLEANING (Refer to Fig. 7.6.1-1)

61 OpticsCare

- Never touch the polished surface of optics.
- Hold an octic only by its edges.
- Reduce the need for deaning optics as much as possible.

- Always use latex doves when handing or deaning optics.
- Do nct reuse deaning materials.

SPECTROVETER MIRRORS, ND FAILTERS, QUARTZ PRISMS AND
LENSES: In the event of dust, biow off with rubber hand pump (avoid
using your breath) or use batled dry nitrogen to remove partidles. Inthe
event of grease or fingerprints, darmpen a very soft dath with methyl ethy
aloohal and wipe gently. NOTE: Wipe marks will almost certainly remain.
To rermove the wipe marks, dampen a soft tissue with a mixture of ether
and isopropyt alcohd and wipe gentty. The tissue should be dampened to
the extent that while wiping, the mixture evaporates one to two
millimeters behind the tissue.

QUARTZ DOVE AND EXTERIOR QUARTZ WINDOW: Spray with
window deaner and wipe dean with a soft dath.

LAMPS: Darmpen a soft cloth with metiy or ethnd aloohal and wipe gentty.

POLARIZING FILLTER Use only a soft, dry cath or tissue to remove dirt
and finger marks. The filter should always be wiped gently to avoid
mearming the finish.

DIFFRACTION GRATINGS: Do NCOT touch or attermpt to dean.

17



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

7.0 BREWER REFERENCE DOCUIVENTATION
Section 7.1 Overall Assenrhly and Bdernal Cables

- Corfiguration Contral Diagrams 7.1-1
- Brewer Systerns Drawming BS-C1000 712
- Brewer Asserrbly BA-C231 7.1-3
- Option BKit Co1 (Adimuth Tracker) 7.14
- Cption C Kit UVB Installation C84 7.1-5
- Power Cable (Bxtermal) W12 716
- Data Cable (Extermal) VB8 7.-7
- Basic Spares Kit C112

- Hectronics Spares Kit G222

- Tracker Stand Tie-Down Kit Installation 7.1-8

Section Overview

Fg 7.1-1, -2 Configuration Cortrot Diagrams (Fammily Tree) for the
complete MKl BREWER systems including all possible purchase
options

Fg 7.1-3: Basic Brewer Assy (BA-C231).

Fig 7.1-4: Option B Kit (Azimuth Tracker); For futher information see
Sec7.7-1.

Fig 7.1.5 Option C Kit (UVB )
Fig 7.1-6: AC Power cord, BA-W12/A (120V North American)

18



BREWER MKl Spectrophotometer Maintenance and Service Manual

MKl Baawer
BA-CZH
ciw Opbane BE-ECU
Cther Options:
D - Cold Temp Kit
E - Computer
F - Manuals il M B Eacraics Fesme
H - Electrical Spares Kit. [re=i) Spmece Lty
J - Externat UVB Lamp NE 1A
Euormal Cabies Basc Soaren KR BaseCour Cample e Opn VB Kit Man Power Supply Elacirerss L Brackat Shupeny Casa
and BA-Cl126E BA-CZAVBA-C164 BA-C1SIA Option © BAEIIS Asa BAe G200
PR5422 Dalaset BALH BA-ET24
Fomcotes Doudla Main Bupport AR Prem
e iioald iverd — Frame GA5142 Dome X0 el Han etag esa Lamg Corci
EnS 1N s Bagr BAEIN BAE1IZ
in Actiator Zawith Duivg Cbbrman L Fonpoptics, Asty SRk [="
."MHM;-“ u:ml Aasy e A4 Spactromusar ‘-vmw ::gﬁéﬂfﬂm
BAFSE aroa BASTIOREAE1123 BASIN

Brewer Serial Number Configuration Control Diagram: Brewer Spectrophotometer MKLI

LCustomer Number

Date Manutactured Revision

Date Delivered Appd by

SCI-TEC Instruments Inc. Date

Fqure 7.1-1.1

19



BREWER MKIII Spectrophotometer Maintenance and Service Manual

e LESCRATON oon MuBtR | ot |
L=
=0 [T 4 ——— maza|ov | w
BREWER SYSTEM COMPONENTS §’~I’ 2 | 40D INB £XF LekP: SHPPNG CRAILS ) spatof w |
LI SiE DR @ soosz v |
) = « | o oem o wemar sz ) srass| v [ o
SIANDARD, RLAELE DTN iR LR 5 | oo oPiow B TR B-cat 10 Bt w2 saas3] o [ o
HPPIG CHTE
PA-D208 € CHT OPIIGH H TO OWE SIAHOARD 11 a1 G000y v | KL
CETIIN A& e ety o i W) g KT PO 06 OPTON 4 ] 21200 v |
(TR 722 o gL o) s 3 e &) pao0a)] v |
I I HRTWER WAy 9 AT SID SPAAS KN PART OF OFIVH 4 (.5 Eal LT L
chE DD a1 £ DTN, LI KD (TS
Bi-CU3 10| Cexr, unads 41T, GUISDE OS] n H64.12| o | b5
QPN B L7 TRAH[R MK TINTH ! A
b O0NC | pgpy| 4N OO KT 11| ruove az TRACKIR PRIMG CRATCS n2 ool v o5
AL 200 KBS W Bi-C91/B BA-0159 12 [ W00 TN VRSN OF 1005 {BA-C204/8) T4 woasi v | os
oprioy ¢ e - f,;iuﬂ SYSIEU [OMPORENTS WY £ SPECFIED WOMOUKLY 8 THER
e i 5 w1 ]
ua kn W St Pl MNERS SHOM N LOWER LA COBIER OF EACH BOX. OPION
8-l COOREATS VIR SPECTOPAUITS) WSF K50 W OPERIA
WLLGE SPICFID.
. 4 DuPICT] GEGute Seofiu wr B(T?(tcr(o I ottt 4 cuione
T0LD TEWPERAURE COLD 1EUR fRaRURY 0CLO WaTHER COVER L0 MR CNER T {COMPUTIR SSIEW) TO BE SPEGTED
PTioh 0 SERACE KT fam| RO 1D 06 | BEMR e & Y g | BOXR wal T o o U o o
COID TEMPEALILRE — L =P A
oot T ey BICHE BheCi5? B-L210 2. SPECHL LS T0 BE ORDEFED SIFRRATELY,
4. SIE SHL. 2 FOR GIMCRAL ARRAVGEMENT. DIENSIONS OF VAN COMPORENTS.
it 3. 1505 COUES SWADARD WIN L L LOHG COMANCAIRS CARL K557 (B8,
CQUAIER SKSTEW + Y LEKCIHS Ll FESPONGIBLTTY OF THE CUSTOMER OF waLL
OPTION £ A8 buded, vy SISTEM MOLUOES CPLAAING SOTWARL. BE 8 SPECHL ORDER ANG NOTED &5 SLCH ON TM[ WSCL SAL{5 ORGIR.
OMPUTER SYSIM RHD WAY NCLUDL CONPUTER, RSP,
oo FRRIER, CHRIES, FIC
L ot 2.
AFIFATIHG A0 mmm ) OR{RAIMG AN HTG .
ont e | | TP WAL (-5 COMPLETE BREWER SYSTEM DESCRIPTION
WS MANM| W7, L MAMUM KT, UK NANUL KT N L
B-G21 H-0E Becoht
IXAMPLE:
s -[720]- [ecorica
CPTIOH [ STLMCARD SPARES KN REFEPONCE LY, KT MCLUOED 45
BADC SPARES WY Pk 7 ot
eI (MCLUOES GISSCAVE LaWPS. (1515, SEECI WOUEL OF SELECT MY AN RECTD CPIONS
oS Toocs, C18, SR ROPHOTOUETER (LB N AP QROER):
(OFIgH s
g‘; . m:(g)&%ﬁcm :f\;:f“mﬁmL s Ay
DPTICHAL FLLCTROMICS: OPFICRAL TLECIRONCS | WOIE: -
DRI H uats o aagian |, | S T v WLU0LS DRCUT BOARD ASSY, BS4 - K 1 (0,-50y Mg} ot et "
HECTRONCS WALPS, PSR SLPRLY. PIR & SERWCE LA, 51
SPIRLS. 4TH [Tty BB SRRES, 1T
N ILECTROMCS SRARCS T
SELECT REQG QRERATIG VOLTAGE: frefesi Aol
110w 110G S0/50HE
20 - PANAC SOLikL
I3 [NIERNAL LWE
OPTION_J LN 55T
[XAENLL B
[EU B-C176
Qary
1] | Pa m| WS N2 DESRPAN s [ iw
—
SEME | o 1HOET ASSY: o an.TEc f1938
MY ot ia ol b W ey
SPECUL MEMS | WX N GREMD 1005 (B4 Nl gt O A TR CaE AL |88-8-5] peyrresiones 4 =" W AE el 3 e oy
TR gwmetye | dewdn, | jEewed || ores o or Je it o om e MTRACNTS 7 St T T
-C120 to 1om g o, e e ] i D P e —) T T

aop | M S 7]
Nl FUILWHEEL =3 BREWER SYSTEMS
P (20

- g 0 CEEL 1
B-1514) COMPTER CEMERATED CRANG / :ﬂll;i '3 u;::v SHEET _ [oc waste
THEHA: ESC1OO0ADNG i 2 | 3S-C1000

Figure 7.1-2.1




Pt it

BREWER MKl Spectrophotometer Maintenance and Service Manual

pr——— 27257 (0.69m) ———

18.257 {0.46m}

o v - genom ©
%
PR

AR et
am NS‘ILI.(D—SII WN B

MTORUTID ZEWTY DARE
(RaRT OF CPTION 4]

SKHIMG SwICHIS
BACWER SPEC.
LHmQTF nH

60" (1.52m) —————————————

i

MK AMKY - 3.87(21 5em)
MKIE = 13.57(34.3cm)

MKV
47
{1.19m} ATIAMRN DRVE CABLE
uHII
TG Smon 4
1. .52m) POMER CABLE

BLCEA 0 ST 1 FOF COWPCHEHT OPTICHS {HART, WETUDD OF SYSICM SPECEICATION
. DINENSOHS SHOWH FOR REFCALNCE PLRFOSLS CNLY.

u o

OPTMARE B, [, F HOU SMOWHL SEFER TO DWG KO'S SHOWH aT Eatr OPTON FOR FURTMR 1MFORMATION

AL NECESSARY DOCUMERTATION, SOFTWASE D MANUSLS WCLUGLO 'WTH OOTION 4 (BREWER SPECTROSMOTOMEICR).
COURIIER GTHERATED CAKMEG
(LY 006 Dol

ACLESSOAY A FOWTR.
1FOR L TEEIAG, ETC)
AT POWER CABLE {15m) [~

el 551G

GESCRPION DON NUMEER LLL S Ll e

LT i dnda | ow | au

ADG UVE LK LR JHmRG (RO et [20.07.03) rv | 1
SEL OCR a7 (005 2] v [ KL

CWE OAT0N D LPDAE ST 2 530 910343 v | KL
CHG DPTEH B R B4-C6% TD B4-(37 e [320302) Iv [ =t
CHE OFTIOH M TA QML STAMNDAAD N iT an [a20903 v | R
WoxE 0 PR o7 o % PR T
A00 LO0S #1 [B1-C204) = (930623 v | m

UL 530 GRARES KIT PART OF OFTIOM A 2 940100} v | WL

e w5 (o
A e 7 [meensz| o | o
REMOVE A7 TRACKER SRAOMG CRAIES 7z Hoaotf v | o5
A0 220V VRSN OF LTS [BA-CI04E) i $E 08t TV

DAIL CaBLL {15m)
0 CouRALR

EREWER SPLCTROPHOTOMETER
(aPToe a)

AZIMUTH TRACKER
OPTION B)
REFER TO DNC BA-CT13
FOR IMSTALLATION INSTRUCTIONS

SCMLE MLET AEY, [

I [T [P BSCI-TEC ..“'...“'-'""

v oo | DuaL Oz oo focrag) | INSTRUBENTS I, TR

) Tomrorices s e i WML

rn | w | mees wu

— BREWER SYSTEMS

- auy e T e £
/ e Lo 252 B Taca [T

Figure 7.1-2.2

21



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

10 WIW Sw I CRR (151 ) PO

WEwCE NIl
SPECIROMATOUEIER
] ASSIMELY
e (v 3 77
P ey / 1 Batas |-

LS

AN DL 10 s 19140 508 atthuery eSO w DpagR SLeRLY (TN 181,
2\ PIER 0. WT GALFISA FOR ASSHLBLY DCIALS OF TENTH DRV ASSAN (nCM 19).
1. weG SAESS D CARLCS [TEN 10-14, 16 12 & 70) MOT SHONM R CLARIT.

A\ umiat wh n (D7) A5 OO0 WELLATON Da: Ba-24n

TEST BA-CE31 [WKH ASSY) 45 PR WTEW £7. BREWR M maln 161 BROCEOVOE
B MULR 10 ORDCAL AMD DLECTAGAL CASSRATON JND THUL TETT AECOMQ Ma- BSOS,

[}"‘!' P ICEE, O LABEL 1N WALE i 1OV (o slP
THER

HALT Rl Tl CPROSTE O

B 1O e T, SO SONSCR W OSTION LSRG Y (T 4
10, 910 SPARES KT (WEW 31 W0 BE PADn wiH BREMCR PR 10 Sapeme,
B MEWS 21 21, 20 & 30 1N PAOT WK GILRER PRKE TO SHPOWE,

O S
NS Sk (4B O a0
FOR TO SHSRING, PLCE Taad [TEV 763 D4 100 OF COMIROL Bl

o

Figure 7.1-3.1

I

X 1
» L]
—
-

F PR L] 'g ﬂ ] I (DAY
\/mmsmm
w1 B

SECTION A=A

s BROWER Ml
SPLCIROPHOONETER
= Py
ST i Y T
I

SOME PROCME W01 AN 08 CLARTTY

PaRTLL Wiw B

Figura7.1-32




BREWER MK Spectrophotometer Maintenance and Service Manual

BA-C231 BREWER MKIIl DBL SPECTR
Item no. Part No. Description Qty.
1 AM-BA-CO5 BREWER FINAL TEST MANUAL 1.00
2 BAC112B STD SPARES KIT,NEW ELCTR 1.00
3 BA-C208 MKIII SHIPPING CRATE 1.00
4 BA-Ci94 WEATHERPROOF COVER ASSY 1.00
5 BA-C221 BASE ASSY NEW ELECT,I 1.00
6 BA-C191B MKIIl DBL ELEC OPTICAL ASY NEW 1.00
7 BA-C84 UVB KIT 1.00
8 BA-E116 BREWER QOPERATING SW 1.00
9 BA-E124 ELEC PCB BRCKT ASSY,BREW 1.00
10 BA-E71/B MAIN POWER SUPPLY KIT 1.00
11 BA-Fi14 ZENITH DRIVE ASS'Y 1.00
12 BA-W76/A CABLE ASY MAIN TO MTR 29" 3.00
13 BA-W76B CABLE ASY MAIN TO MTR 27" 4.00
14 BA-W7Z7/A CABLE ASY MAIN TO LMP 11" 1.00
15 BA-W77/B CABLE ASSY MAIN TO HV 16" 1.00
16 BA-W78 CABLE ASSY HV BRD TO PMT 1.00
17 BA-W79 THERMISTOR, TEMP PROBE ASY 1.00
18 BA-W82 DC-MAINAMP INTRCNCT HARN 1.00
19 BA-WS83 LAMP WIRING HARNESS ASSY 1.00
20 BM-C105 NAMEFLATE ALTERED 1.00
21 BM-C202 SHIPPING FOAM,CNTRL PANEL 1.00
22 BM-C212 LABEL,CE APPROVALEMC DIR 1.00
23 BM-C218 MCDFD SCREW,EXT TMP SNSR 1.00
24 BM-C82 CONTROL PANEL - MACH 1.00
25 BREWERQC QUALITY CHECK LIST 1.00
26 IT-BA-C231 NEW BREW MKHI INITL TEST 1.00
27 12103081 DECAL, SCI-TEC LOGO 1.00
28 125013652 DESICANT HLDR CARTRDG ASY 1.00
29 85-80-440 CABLE-TIE MOUNT,34"SQ 3.00
30 83-30-450 BUMPER RUBBR 1/8 HOLE, & 400
31 8340-485 NUT 4-40 SL RG HX THIN 38 200
32 83-51-752 SCRW 2-56 X 1/4 BUTTON HD 2.00
33 83-51-762 SCRW 4-40 X 56 BUTTONH 2.00
34 83-51-804 SCREW,8-32 X 1/2BUTTON M 3.00
35 83-56-143 SCREW,SET 6-32 X 14 CUP 3.00
36 83-79-049 SCRW 4-40 X 38 HSC 55 3.00
37 83-79-152 SCRW 1/4-28 X 1/2HSC S5 3.00
38 83-95-008 WASHER #4 FLAT NYLON 1.00
39 83-95-609 WASHER, 1/4 LOCKINTTHS 3.00
40 83-95-786 WASHER, #8 SCREW 38 QD X 3.00
41 83-95-604 WASHER #4 LOCK INT TH S5 200
42 85-10-145 ADHESIVE, SEALANT LOCTITE 0.50
43 8510-150 ADHESIVE, SEALANT RTV 0.50

23



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

Raxgh Eatt u
TG

oIr,

GROUND SRk
""" LoUMTRG HOLE

b

RiF

le'
e

=16

SECTION W-w
SE THI T

ERAD PLATL LOLMIWG W POSHON NG
SECION Y=y ALSE

SEL

CL AT N TR

NQILS:

g S o e e s i e i

Mmoo A i 17 e W) 10w BUEING (0 381 SeGR 15 COMEISG 13 WA WO
AT Wi oA s iR WD a8 M A Rt

= e i e et ot .t 1 0t o 7

S eum s aaars o w24 P 1

ANt i s 5 i o s s 1 et 43 s et v s

TSI MR R s e 2 b et Kot
e TR e T
R ALy e e ke

iy o
B o RSN R e Rl T
s s TV IREITE ST et Ah B e S

N
1. WA A e K ] S Encra e 0.

e 4.9 MR AL e (S5 18, 1 X5 40 st 3
A T TR B S

1 T came i ron rursmms e U witnas im0 COXE UGV, £ CONA RIS
T O W Swcs TN 0 Sl P00 v Lo B [,

LA TAAE (i )8 U3 ¢ /Y PR SRS GTV S ek ) A £30ad R B L)
Erfey R R R s

L OB e FE B (I 1T) (NS BT 0 (11 N3 SR TV 77 B B0
o A Ly T
Lt A, e 1 meme pwntes o e b T it et r

RO Eg e Lt s D e

i s e, Tk A o, 1 3 43 e 9 Nl
&b e st o i o a0 s mtas e 3 e 0 i

e () CBmr o T (4 41 -
R S e [ e T (M 1) IS 0T

TN DOMLL- D T £ Lt et oL, Wiy e Gt 38 T TR M
S Lt S g M s AR T W3 A PR 43 T R R
ol
(R Rt M L SR MLATAG K MR IE )/ DY A (O ot aOR
M MM SRACE OF I8 3 0F00 #) win W oo 2

I Taa T o A8 S W md.

Py ST o [ 1 1 e EOwE w M IR MG T LT PR S .
ST R 1 < At B syt bl ¢ g T
B 1 Bmic) 1S M AR S 1 A LM
ERN T
'S AL BT 3 10 Louiat =t ahvenn sy Y
ey 4w e e L R,
e LL(L 1 {OLPLTNLY COMRE STt 5o et

Figure: 7.1.4-1

IR

43m

i

P F e

. 4

/

;{
oo
>‘
@

Ml

NEW 59 10 ATIACH
o LHCER THES SCRTW

"R

reeae )
SEC DETML B
SECTICN Y=Y
a2
a
)
S)

T 2

TROHT VIEW
{win COMER REMONEDD

SECTION ¥-X

VIEW &
e

s pe & AT D

TR W
aa-car

b Tk gy P e
LR e e N LR L)

(Y TG w1 wone iy

N LT ALY T Y W T T

SIE SECTON W, SHT 1 FOR POSOMIG
OF DAVE PLAIL NGWTIRS HUA (R 721

AZIMLAH TRACKER ASTY

Zants [

e
2 BA=C31

il e

Figura 7.1-4.2

24




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

BA-C91
ltem No.  Past Number Description 120V Qly 230V Qly

1 BM-C100 Nameplate, Altered, Azimuth Tracker 1.00 1.00
2 BS-Co1 Azimuth Tracker Unit Wiring Diagram - -
3 BM-Ca2 Azimuth Tracker Enclosure 1.00 1.00
4 BM-C93 Adjusting Screw 300 3.00
5 BM-C94 Angle Bracket 400 400
6 BM-C95 Counter Bracket 1.00 1.00
7 BA-WE7 RS232 Lightning Protector Assy 1.00 1.00
8 BA-C97 Drive Shaft Assy 1.00 1.00
9 BA-C98 Drive Motor Assy 1.00 1.00
10 BA-C99 PCB Assy 1.00 1.00
11 BA-W18 Power Connector Assy 1.00 1.00
12 BA-W19 Control Cable Assy 1.00 1.00
13 BA-W21 Safety Switch Assy 100 1.00
14 BA-W22 Power Switch Assy 1.00 1.00
15 BA-W23 Power Indicator Assy 1.00 1.00
16 BA-W?24 Fuse Holder Assy 1.00 1.00
17 BAW30/A Power Cable, Azimuth Tracker, 110V 1.00 -
18 D2-1030-002 Azimuth Spinde 1.00 1.00
19 C2-1030-005 Bearing Housing, External 1.00 1.00
20 C2-1030-006 Bearing Housing, intemal 1.00 1.00
21 B2-1030-007/A Plate Mounting Hub 1.00 1.00
22 C2-1030-008 Drive Plate 1.00 1.00
23 B2-10830-015 Spacer Ring, Short 1.00 1.00
24 BM-C88B Terminal Block Shield, 2-1/4" Lg 1.00 1.00
25 A2-1030-019 Drive Bearing Stop 1.00 1.00
26 B2-1030-028 Battom Mounting Bar, PCB 1.00 1.00
27 B2-1030-029 Top Mounting Bar, PCB 1.00 1.00
28 D1-1030-045 Tracker Stand Assy 1.00 1.00
29 C1-1030-080/A Short Tension Ammn Assy, Azimuth Drive 1.00 1.00
30 C1-1030-081/A Long Tension Am Assy, Azimuth Drive 1.00 1.00
3 C1-1030-084 Cover Assy 200 2.00
32 BM-C88 Tenminal Block Shield, 5-1/4" Lg 1.00 1.00
a3 83-09-220 Spacer, Hex, 6-32x 34" g 4.00 4.00
34 BA-W58 Accessory Power Cable Assy 1.00 1.00
35 BA-W30B Power Cable, Azimuth Tracker, 220V - 1.00
36 B2-1030-101 Bearing, Atiered 200 2.00
a7 — Foam Disc, 2-1/2'Dia x 1"Thk 1.00 1.00
38 BA-C166 MOV Assy, 110V 1.00 -
39 BA-C166/B MOV Assy, 220V - 1.00
40 Fuse, 4A, 125V, Slow-Blow 1.00 1.00
41 BM-C174 Azimuth Tracker Ground Strap 1.00 1.00
42 BAC113 Option 'B' Kit Installation (Azimuth Tracker) - -
43 BM-C188 Terminal Shiekd, Azimuth Tracker P/S 1.00 1.00
44 BAC150 Shipping Crate 1.00 1.00
45 85-80-440 Mount, Cable-Tie, Adhesive Back 3.00 3.00
46 82-20-383 Clamp, ‘P, 1/2" x 1/2" x#10 1.00 1.00
47 88-39-780 Retaining Ring, Internal, Spiral Snap 200 2.00
43 76-99-445 Hose Clamp, 2-1/2" OD 1.00 1.00
49 83-10-651 QO-Ring, ¥8"ID x9/16"'0D x 3/32"Thk 3.00 3.00
50 82-10-470 Terminal Strip, 4 Contact 1.00 1.00
51 87-50-088 Power Supply, Switching, SVDC, 10A 1.00 100
52 82-10-450 Tenminal Strip, 12 Contact 1.00 1.00
53 83-09-413 Spacer, 1/4'0D x 1/8"ID x 1/8'LG, AL 4.00 400
54 B2-20-356 Clamp, P, 1/4" x 1/2" x13/32" 2.00 200
55 83-08-100 Bushing, Strain Relief, Lig-Tite 3.00 3.00
56 85-10-150 Adhesive, Sealant (RTV 3145) 1.00 1.00
57 85-10-149 Adhesive, Sealant (RTV 738) 2.00 200
58 85-10-145 Adhesive, Sealant (Loctite 242} 2.00 200



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

ftem Np.  Part Number Description 120v Qty 230V Qiy

59 81-15-154 Cap & Chain, For #18 Receptacie 1.00 1.00
60 85-10-147 Adhesive Sealant, Pipe Thread 1.00 1.00
61 82-10-484 Jumper, Terminal Block 5.00 5.00
62 83-25-880 Term, Ring Tongue, #18-22AWG, #6, Insul 18.00 18.00
63 99-31-483 Wire, Hookup, #1BAWG, IRR PVC, Red 1.00 1.00
64 99-31-482 Wire, Hookup, #18AWG, IRR PVC, Black 3.40 3.40
65 99-31-484 Wire, Hookup, #18AWG, IRR PVC, Green 200 200
66 99-31-481 Wire, Hookup, #18AWG, IRR PVC, White 225 225
67 83-51-752 Screw, 2-56 x 1/4"Lg, Bin Hd, Hex, SS 200 2.00
68 83-51-763 Screw, 440 x 38"'Lg, Bin Hd, Hex, 55 400 4.00
69 B83-51-762 Screw, 440 x 516"Lg, Bn Hd, Hex, S8 200 200
70 83-51-765 Screw, 440 x 1/2°Lg, Bin Hd, Hex, 5SS 1.00 1.00
71 B3-79-152 Screw, 1/4-28 x 1/2'Lg, Skt Hd, Cap, SS 1.00 1.00
72 83-79-051 Screw, 4-40 x 1/2"Lg, Skt Hd, Cap, SS 5.00 5.00
73 83-79-068 Screw, 6-32 x 3%8"_g, Skt Hd, Cap, S5 5.00 5.00
74 83-75-075 Screw, 6-32 x 1°Lg, Skt Hd, Cap, 55 1.00 1.00
75 83-79-073 Screw, 6-32 x 3/4"Lg, Skt Hd, Cap, S5 2.00 200
76 83-79-082 Screw, 8-32 x 3/8"Lg, Skt Hd, Cap, SS 3.00 3.00
77 83-79-114 Screw, 10-32x 1/2"Lg, Skt Hd, Cap, SS 12.00 12.00
78 83-79-077 Screw, 6-32 x 1-1/4"Lg, Skt Hd, Cap, 55 400 4.00
80 83-79-116 Screw, 10-32 x5/8'Lg, Skt Hd, Cap, SS 7.00 7.00
81 83-87-194 Screw, 8-32x1/2"Lg. FitHd, Hex, 58 2.00 200
82 83-87-165 Screw, 4-40x 1/2"'Lg, Fit Hd, Hex, 5S 2.00 200
83 83-87-181 Screw, 6-32 x 58"Lg, Fit Hd, Hex, SS 4.00 400
84 83-87-182 Screw, 6-32 x 34"Lg, Fit Hd, Hex, SS 200 2.00
85 83-87-209 Screw, 10-32 x 1/2"Lg, Fit Hd, Hex, SS 4.00 4.00
86 83-87-211 Screw, 10-32 x 5/8"Lg, FIt Hd, Hex, SS 3.00 3.00
87 8387214 Screw, 10-32 x 1"Lg, FitHd, Hex, SS 3.00 300
88 83-87-233 Screw, 1/4-28 x5/8"Lg, Fit Hd, Hex, SS 2.00 200
89 B83-40-261 Nut, 6-32 x 5186, Hex, Steel Plated 1.00 1.00
90 83-40-326 Nut, 1/4-28 x 7/16, Hex, Steel Plated 1.00 1.00
91

92 83-40-278 Nut, 8-32 % 1/4 x 3/32 Thk, Hex, S5 4.00 4.00
93 83-40-486 Nut, 6-32, Self Locking, Hex, SS 1.00 1.00
94 83-40-283 Nut, 8-32 Std. Hex Pattern, SS 200 200
95

96 BM-C121 Jarnb Nut, Altered, 3/8-24, Hex 3.00 3.00
97

a8 83-95-608 Washer, #8, Intemal Tooth Lock, SS 2.00 200
99 83-95-626 Washer, #4, External Tooth Lock, 5S 1.00 1.00
100 83-95-604 Washer, #4, Intemal Tooth Lock, SS 9.00 9.00
101 83-95-605 Washer, #6, Intemal Tooth Lock, SS 200 2.00
102 83-95-631 Washer, 1/4, Extemal Tooth Lock 200 2.00
103 83-95-749 Washer, #6, Split Lock, SS 500 5.00
104 83-95-752 Washer, #10, Split Lock, SS 10.00 10.00
105 8§3-95-750 Washer, #8, Split Lock, 58 400 4.00
106 83-95-013 Washer, #6, Flat, 55 1.00 1.00
107 83-95-019 Washer, #8, Flat, S8 3.00 3.00
108 83-95-028 Washer, 1/4, Flat, S5 1.00 1.00
109 83-25-996 Teminal, Female Disc, Red 4.00 4.00
110 76-05-005 Filter, Interference,Power Line EMI 1.00 1.00
11 88-99-224 Ferrrite, Split, EMI Suppression 1.00 1.00
112 BM-C212 Label, CE Approval, EMC Directives 1.00 1.00
113 AP-BA-C91 Azimuth Tracker Paint Masking Procedure - -
114 TP-BA-C9i Azimuth Tracker Ass'y Adjustment and Test Procedure - -



BREWER MKl Spectrophotometer Maintenance and Service Manual

2..] ECRETION DO basBtE | Bt fower 1)
§5 1 FIRST ISSLE — aam Cw | Al
% gé 2 REMOVED MOTC 5 BCH4SO o0 ar.03f pv | i
3\ / 3 BENOVT NG, 3, I04 DRRE ¥ DCHART 00,0802 FY | KL
4 W SUE SUBR DCHS38  [e.on1ef v | KL
B 5 | erev Wow-wisRs AW a) DCNSS8 (a1 vazef BV | KL
@ 6 | seuow scrEmoice o ma-co3 OCNSEZ  [wantrl by
a +
alj
GRILEE TALIRCRTGUITER
Bu-cB1 OA Qu-CONT
a0
i W
L
Y3
Zwh OPVE CABLL 4 Pt
S SURPRISSCR CARL ACTLTS0OY L PR
- {reR Lawm LTIV, £7C)
Bietr: CABLL — ¢ BOMER GBE (15m)
DT C3ELL {15m)
10 CouburER
fo— 7| | eaer ml W K0 DeScrE | s | rex
7. REER 10 PaR1S LA BA~CII) TR MEUS LSTED. ASVE, O LENTIONID ® THIS( AOTES,
TEUS 10 B WTAE A8 For RITERIMCL PLEPOSES OLY A0 WK PANT OF e T eeaaic L (o] & | T gl
cPRaN B K OATE 20 eacass i armomena e
2 BEMEA 10 ACCOPTINGE MARLAL - Ba-206 BOR0R 10 MGSPUELY. o ow | DuaL DUS: oo gcrm) | NSIRUMENTS IHC, 55005 i s e,
POSTION SPLCTROPHIFCMETER (W 10 JOMMIH TRACKIR AS SHOWH A0 SECLAE LENG l] o foweie b e
o a
112 6o Stmls ST Yt D SEUALTOLOER 13 cuTRARD e Tt T Sex 4PP0 BOES e OPTION B KT
il THE GUANTT WMGOW COUS TO TR SOC OF (VL AZRAT TRACKTN wiin DMLY
AT T, 5 10 W 500 AT TRACKTN Wit QLY 8 = e wram INSTALLATION
4. COWECT ALL EABLES TO AZWAITH TRACKER AND SECTROPHCTOMETLR A5 SHOM Rty ] LN a1 FAELT Tttt vt
ripne oot Fai e R
s
orscRann oo rawi | Dt [ owa Jamer
rom e o | on
T Dk wiETatatm FG 11 CEnsEa i

!‘vAD SCRIWS. 6 PL
FART OF COVER ASSY)
SECTION A-2
FIGURE 1
UvE DOME INSTALLATICH
TCALL 01

HOTES:
1. TIUS 10 B0 MSTALLID ART Sawn TOR AEFERTMCE SURROSES GALY, AND ARE PANT OF QPTIOH G KN, OWe: MO Ba- Ot

UG BRAATT Dout # FRAGHT
(P alem e oA 1ot oo cue s e frum o gecon
’lmlnluﬁl'uc AT, SPOT FPOM DASTAC DAY WET M0 DE-GLAR, BAD

aGTIaR XS Painy 15 mow RETEHED 10 1S TWE DETIrSIE
111 e & B AT (9 BT L0

ﬂu m
[ L1 |DI A O-W‘G m[‘ 1m m Aafws k 1i
AL PRgTECIne R 1w ) S0 SR dlows o s 15 uvio row anr mcustn
e CARFIMG WA

Feuva
= BLQUAL B THC 18 Sout atm
T et PASIE ISt 1o i M -cwlz- mtu 31 GG CASTHG

FLAFL s Q-mue i BE USED 70 WL-SEAL 10
USED 0 a1 THE GWRTL

3 OCeA. & 0-sall e ST KOR AERL LSE.

| B PR BSIALLITIEY:

T REFIR 10 FEUPE 5. WSTALL WME PR ASFY DND EUS 53 AN0 18,

CINER ASSY {PART OF
BA-Ca1 OR B4-CD4/8)

ADArILR (MEM 3) TO COMA.

BASE aSSY (PART OF

[ Ba-COF OR BA-COS/B)
L

= &g [

oy

)

T

FIGURE 2

UVE PRISM INSTALLATION
SCALE 113

DAL DUy e Mu\nl

ELT ey [
T
—
e "
COUPLTEE GONERATED Doy e o s
FLINALE: BA- 114 045 Tesna o

ke ra s (rmeee e meactest| ILE

OPTION C KIT
INSTALLATION (UVE)

SHET worn W T
‘c‘! BA-C114 |2

Figure 7.1-6.1 7




I BREWER MKIIl Spectrophotometer Maintenance and Service Manual

I BAC113 Option ‘B Kit Installaion
ltem No. PartNo. Description Qty
. 1 BA-C91 Azimuth Tracker Assy 1.00
1 3 8379116 Screw, 1032 x5/8'Lg, SkiHd, Cap, S8 4,00

BA-C84 Option 'C'Kit (UVB)
] ftemNo. PartNo. Description Qty
1 BA-F81 UVB Prism Assy 1.00
2 BM-C175 UVB Dome Cap 1.00
i 3 BM-C37 UVE Adaptor 1.00
4 BM-C38 UVB Dome Light Diffuser Holder 1.00
5 BM-C39 UVB Retaining Ring 1.00
[ 6 BM-C40 UVB Diffuser 1.00
! 10 10-15-101 Quartz Hemisphere, 50mm MTD 1.00
12 83-10-739 QO-Ring, 2-1/4"ID x 2-1/2"0D x 1/8, #228 1.00
] 13 83-10-737 O-Ring, 2'ID x 2-1/4°0D x 1/8, #226 1.00
( 14 83-51-834 Screw, 10-32 x 1/2'Lg, Bin Hd Hex, 5 3.00
15 83-79-052 Screw, 440 x 9/16"Lg, Skt Hd Cap, SS 4.00
17 83-95-787 Washer, #10, Sealing 3.00
18 83-95-748 Washer, #4, Spilit Lock, SS 400
19 83-95-023 Washer, #10, Flat, S5 3.00
20 BA-C114 Option C Kit Installation -
BA-C114 Option C Kit (UVB) Installation
- ltemNo. PartNo. Description Qty
1 BA-F81 UVB Prism Assy 1.00
2 BM-C175 UvB Dome Cap 1.00
, 3 BM-C37 UVB Adapior 1.00
1 4 BM-C38 VB Dome Light Diffuser Holder 100
5 BM-C39 UVB Retaining Ring 1.00
6 BM-C40 UVB Diffuser 1.00
} | 10 1015101 Quartz Hemisphere, 50mm MTD 1.00
12 83-10-739 0O-Ring, 2-1/4"ID x 2-1/2'0D x 1/8, #228 1.00
13 83-10-737 Q-Ring, 21D x 2-1/4"0D x 1/8, #2286 1.00
14 83-51-834 Screw, 10-32 x 1/2"Lg, Bin Hd Hex, SS 3.00
15 83-79-052 Screw, 4-40 x 9/16"Lg, Skt Hd Cap, SS 4.00
17 83-95-787 Washer, #10, Sealing 3.00
18 83-95-748 Washer, #4, Spiit Lock, S5 4.00
19 83-95-023 Washer, #10, Flat, SS 3.00
20 BA-C84 Option C Kit -
/
|
28



BREWER MKl Spectrophotbrneter Maintenance and Service Manual

L

HOTES:

ARDUKR AL THE
MaRK CABLE

HIH

SCHEMATIC (iaGRAM
CESILETE {1100}
REFEREMCE ONLY'

Fan e

PeD 2 g

SCHEWATIC CHAGRAM
BA=WI1? (220v)

P R DescreTOm EOssamr | OATE | B [apvod

-

R wau st P T e

7;: 2 sen_ocw sex e

S 3 L DK 8 e
4 FEWOVE SUALL BUSHING (MW 14} (=] aoseel v [ oos

1. REMOWE THE RUBAER INSULATOR FROM THE INSIDE CF (TEM § d D¥SCARO.
AFTER THE WIRES ARL SCLCERCC TO THE CONNECTOR. WSE MLM 15 ANO SEAL
SOLDER CUFS. THEN INSTALL THE PLASTIC SHELL OMER M.

WITH PART %0, WHERE SHOWM,

B

Tiw { PART O, | WFE2 hﬂ.[ DESCRIETON I FLMARE L'}
[sw 12 BEAT ASSY =0t LA
F T (e e | DSCHEC S rones
B # Bl Dudk oot Qlnciz] | INSTRUMENTS WG, KON i oo
s || Tz o, e ] L
Pr i sores Y] POWER CABLE ASSY,
Frvo

/ . s BREWER
e ey s s I T = ) L
st i W12 Dl s LA Ba-WiZ 4
DESCREIOH OCN raBER (113 |DW [AFFD,
n e ol OCLEASE " R3o8A| v |
sy | s ; =) 16, QUL CaRE [HOR o 94 gar 1) o | o8
w0 | s B I - 4[| WS FG N|@ GAT SOT ) roraaf o | es
P
a0 | Ll 1ty
we | ¢ = me)
m .
R mn:! ) PR Sl oemtpe
DAl wnt
GEN IR 3

HOTES:

1. ASSEMBLE CONNLCTOR (MEN 1) 10 CABLE [1FEM S) &5 FOUOWS:
BRCKSHELL CLAMP OMIQ CADLE, THEH NYEON SHELL 2 RUBBER TELESCOPNG

- suP

49 F1 (15W)

7]
IF

MARK CABLE WITH
FART NO. A5 SHOWN

HUSH\N'GS (I'FEMS 3.,4) aNO STRIP WIRES. DELETL THE RUBBER GLAND AND SOLDLR

1O PINS. NOTE: TWIST SHIELD & DRAN WIRE TOSEIHER AND SOLOER 0 A 1°
(WEM 7). AND SOLDER WRE TO PN A,
BEFORE OFFERING UP CABLE I

0F GRN WIRE

PIECE

IANG CABLE WITH CONWECTOR QOWNWARD.

L ARDUND WEES WITH RV 3125 IIEY 6 10 PRDVENT MOISTLRE FROM

GETTNG INTO CONNECTOR.
WHEH RTV HAS

SKRHED OVER, OFFER UP THE TELESCOPMG BUSHMGS & MYLOH SHELL

lND SCPEW THE BACKSHELL TGHILY 10 THE CONKECTOR B HOLD#G THE SHEWL W
ELL.

LACE WITH A MWATING COHNECTOR SH

- |\E;HYEN CABLE CLAMP, HOTL-1% WUST B[ OVER CaBLE SaCKET END 4 MM OF 1257,

£2% TWST SHIELD AND DRAR WIRE TOGEIHER ANO SOLDER TO & J6° PIECE OF GRN WRE
MECE OF HEATSKRINK (BEN 10)

Asumnx A 787 PIECE OoF HEATSHRIHK {IFEM 9) QVER EACH TWISTED PAIR AMD COMER
END OF CABLE JSCKES WITH & 507 PIECE

{MEm 8). COVIR with (*

OF HEATSHRINE (EW 13}

NV

L

TRIM I5° & T
IDEMNTIFY EACH LE2D WITH
PROPER DESIGHATION AS
PER SCHEMATIC

;:“'%;u

PAFT N

ML NG I

H
H
H

i | HEXT & O
O[T pgreac, T A
T tarte o freve]
| o

INSTRMENTS N BTG T T

oo onEet i shvave wein] TTLEE

P e

COLPUTER CINERLTTD Devemss
Lt

DATA CABLE ASSY,

R3422

e 1 1

=

o 13
Ba-wEg 3

Figure 7.1-7

29

it
=
Toast
/
|



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

BA-C222 Brewer Electronics Spares Kit
ltemNo. PariNo. Description Gty
1 12501365-2 Dessicant Cartridge 1.00
2 70-10-015 Dessicant Bag 1.00
6 BA-C98 Azimuth Tracker PCB Assy 1.00
7 BA-E103B Power Supply Assy 1.00
8 BA-P23 High Speed Amp PCB Assy 1.00
9 BA-E124 Elec PCB Brckt Assy, Brew 1.00
12 93-70-401 Standard Lamp 3.00
13 93-70-406 Larnp, HG Gemicidal 3.00
14 87-50-088 Power Supply, Switching, S5VDC, 10A 1.00
BA-C112B Brewer Standard Spares Kit
Item No.  Part No. Description Qty
1 12501365-2 Dessicant Cartridge 1.00
2 70-10-013 Dessicant Humidity Indica 200
3 70-10-015 Dessicant, 4 Unit, Tyvek Bag 3.00
4 93-70-401 tamp Tungsten Halogen 20W 2.00
5 93-70-406 Lamp, HG Germicidal (GTL3) 2.00
6 83-79-116 Scrw 10-32 X 5/8 HSC SS 4.00
7 91-15-217 Fuse, 5A, 250V, FB, FAST-BLOW 200
8 91-15-220 Fuse, 1A, 250V, FB, 5X20MM 2.00
9 91-15-280 Fuse, 4A, 125V, SB, 5X20MM 2.00
10 92-22-050 Tool, Ins/Extr D-Con Pin 1.00
11 92-90-002 Tool, Hex Key, 0.035" 1.00
12 92-90-020 Tool, Hex Key Kit, Ball Pt 1.00



BREWER MKIil Spectrophotometer Maintenance and Service Manual

l DOH FALgER Inm bate oo

T TJamslr]

BA-C203

BOCUEHT NG

{REMOVE & REPLACE
WASHER WITH TIE-DOWN
PLATE)

\ ST HOAK

1E-D0wn ROD -
(FITS 15 GROTWES PROVIDED 5 HOQK
IN WALk OF STAND BASE)

TURMBUCKLE CHAM

TURNBUCKLE

- 3 ] [ P ]
RECGMUENDED MUUNTING SURFACT —// 3 ook Ty FUnLomED S EoMeREn J e oo
A T i [} HCH]
{78750 NN ¢ 100mm{d7} THK CUSTOMER SUPPLIED EYESOLT (QR EQUNALENT} EWBLODED 1N CONCRETE
CONCRETE PAD ECUIVALENT) EMBEDDED IN CCHCRETE RECOMMENDED MOUNTING SURFACE
ZM{TETSO MIH ¥ 1G0mm(47) Tk
CONCRETE PaD
STANDARD CONFIGURATION ALTERMATE COMNFICURATION
o
| PART NO. | s NOL 0€ P TIEN | REMARR Y 111[!
~
NCTE: STAE | [T awsw  47-10%-135 | wwm g
MY =2 BSCHIEC =
1, ALL ITEMS USTED ABQWE ARE SHOWM FOR INSIALLATON PURPOSES oo T T LI
DMLY AND ARE BART OF KIT FAZ-1030-135 w 1 |7 oust iuess " e | miSTRBUERTS 1o BT T
) Lo TRy e— e
:::’;. Ly INSTALLATION DRAWING,
z zras | TRACKER TIE-DOWN KIT
o Cea [ T
oot s oo e 1 a0y |

Figure 7.1-8

31

T -DOWN PLATE ™



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

BREWER REFERENCE DOCUMENTATION

Section 7.2 Power Supply and Hamess

- Main Power Connect Cable Assembly 721
- Main power Interconnect Assembly 722
- Main Power Supply Assembly 7.2-21
- Power Supply data sheet 7222



BREWER MKIll Spectrophotometer Maintenance and Service Manual

—

a 50 o
o | Ry ESCRPTION oey kuwpsk | owic | o fareo,
H
4100 z g 1 \NTIAL PELEASE 22 e
)
BROWN 3
e I
a_j —
| GRN/YEL ‘ J i
low Y7 U
SHEILD DRAIN WIRE
i | )
100 2 ‘ 4 ‘ 2 |
il ‘ W
(s g
ot
J8] Ja| un | PaRT no. | wER's WG, BESCRIPTION FEMRKS  [iTru
T HE
SCALE | NS |WEXT ASSy BA-CI20/C271 | g @1036
DAY (900028 | b hsnes - SCF!EC e
MNOTES: [T W |IF DuaL Cats oo Gncres) | NSTRUMENTS INC. ST wekromaens s 2 ™
- CHED Tolerances fuien athewite weciadt| TITLE:
T 17 AN T BRAID AN RAN WIR K
1. STRIP CABEL JACKED D CUT BRAD AND DI E BAC e o - MAIN POWER CONNECT
7. BAG AND LASEL WITH THE CURRENT DWG NO. AND REMISION Pt o i CABLE ASSY
A5 SHOWN OM THIS DOCLIMENT. et TN
T2t P SIZE | SHEET MEN .
i T I 1 E e I
0 7 WECHES
Figure 7.2-1
DESCRIFTCR OCH MR E o

ow 1B (1

TG R

e ] |

]

conR eonmacy
auseronoen wr gis (203
o e gy [To o] e e en L
==
2wn g10 o0
s doft gug {307 "
TN
-
aam gig (11
3
pr

HOTES:
DISCARD KETING WASHER (PART GF ITCM A) PRIOR 517
30 THREADIMG BOOT (ITEM @) ONTO SWITCH ] I R | o "QI T
LABEL COMMECTGRS (P1 & P4 ONLY) AS SHOWN = :
Zar [ s et wocie: lgw eOLTEC S0 e o
W [iwmeads Pl
COVEA HaRT TERMIMALS WITH RTY {TEM 32) = —1_, e ot oos Towmy |IMS1FUIENIS HE, Sus St
4. BAC ITEM 12 AMO ATTACH TO FRISHED ASSY o Tt r1Ee s fmrmm o rim e | 1L L
5. PLACE FIUISHED ASSY 11 CLEAN PLASTIC 840 4n0 = it it PRIMARY A/C
WITH OWG MO, & REV. Pt o wisn | INTERCONMECT HARNESS
= Py
COWTES ENBAGE paimas / e Lanu e £ P L
P g e A, 1,1 BA—WEI 1

Figure 7.2-2




BREWER MKl Spectrophotometer Maintenance and Service Manual

T g s [ [
]
=0 0 | i, #ALAS wrr oowmz [asnn| v
§$ 7 | cemon 76, BAIMEE ACw LECIRGNLS o f ar
7 A2

O8Ny <)
oos
| I—

MOTES:
1. ITEMS 368, AND 11 HOT INSTALLED N BA-Z71/8 ASSEMBLT

£\ ey e g o w0 TGN 25 6% TS GO, oo o ) i | e [
S o e
iy /I Bt | T e |3
Fgure 7.2-2.1
BA-E103/8B Power Supply Assembly
Item No. Part No. Description Quy
1 BME102 Mounting Bracket, Power Supply 1.00
2
3 89-90-220 Mounting Clip, Axial Lead Resistor -
4 87-50-098 Power Supply, 80W, G/P,Switch,+-15V -
5 87-50-099 Power Supply, 80W, O/P,Switch,+-12V 1.00
6 8351-752 Screw, #2-56 x 1/4'Lg, Btn Hd Hex, S8 -
7 83-79-068 Screw, #6-32 x ¥/8"Lg, Skt Hd Hex, SS 4.00
8 83-85-724 Screw, #5-32 x 58" g, Fit Hd, 100Deg, SS 4.00
] 83-40-219 Nut, #2-56 x 3/16", Hex, SS -
10 83-40-261 Nut, #8-32 x 5/16", Hex, SS 4.00
1 83-95-603 Washer, #2, Internal Tooth Lock, S5 -
12 83-95-605 Washer, #6, intemal Tooth Lock, 55 8.00
13 83-08-210 Spacer, Threaded, #6-32 x 1/4°Lg, Hex 4.00



BREWER MKIll Spectrophotometer Maintenance and Senvice Manual

i, ey Wil deue 453 pas waits

== Ykt 4 2o T8 Bply Bipemin bom ane bng wilagn
- et thewoidoeliuol 8 awitch o o sileg. Tha 19580
-~ ekinn B vt e L, DU and VO S e BRI e M

- IREG eendisnd rolse boey B and VEE R B

B Gmmig ?mmrm Limrita amet Sulpert Fower
Range

o opionie RRRIRY. mmﬁmwmmzm
Mmmmw e ST

g WWQ&

T oo DOMPUTER PRODUCTS

'?mm Bk Siames m CRIHY + Frirve &%?‘w L Me’!*Mﬁa

Figure 7.2-2.2




BREWER MKIIl Spectrophotometer Mainlenance and Service Manual

5 .
R A Y AR R e e AN e

' "mem:w

R VYT P LTSN PNV ans AT AN

RPN
toislmlnindulniel o :

aw?c

iﬁmmmumu%mmz?ﬂgm eketensie a
et 2oph % perkonped o g 33,

. M tﬁﬁﬁém&mﬁr&w%&m#ﬂ?m

W‘ W TG e Biitod: Sl
G P ;R e mﬁx&:&vﬁ& Saipindind Giing e POR wewniig
bwa mﬁeaﬂ@wm\hmﬂmﬂw ChE R e

i R By mﬂ Waﬁw‘h m
Mehmw mewm ’Efﬂ Y ﬁﬁm&&

(B COMPUTER PRODUCTS [

¥ B Bhesl © Bk ERen « WL RN . %ﬂ*'lfdﬁlmﬂ *&E“?“MQ‘Z

Figure 7.2-2.3

36




BREWER MKIll Spectrophotometer Maintenance and Service Manual

BREWER FEFERENCE DOCUNVENTATION

Section 7.3 Intemal Cahling

- Data Cable 7.3-1
- Azimuth Cable 732
-DC main & lamp Interconnect Hamess 7.3-3
- Control Switch cable assembly 7.34
- Lamp Wiring Hamess assembly 735
- Motor Connectors Cable assembly 736
- Main Larmp and HV Cable assembly 737
- Hvboard to PMT Cable assembly 7.38



BREWER MKIIl Spectrophotometer Maintenanice and Service Manual

9
TTTTT

.

MNOTES:

[Al-nc. [l
G —————— 9
8 Bt g
fi—MC. 7
1 1 3
El—#.C. g
J L= 4

o] TR 3
¢ Te 2

N —om \

REV

HO.

BESCRIPRION

OCh NUMBER DAIC | OwN

APPD

1

WAL RELE ASE

BT M5B

BA—WE4

EOCUMENT

STRIPE

i

LOOP CABLE THRU STRAIN
RELIEF AS SHOWN.

1. USE THE 3M SCOTCH FLEX NOTCHER/SCRIBE TO REMOVE oTY
10 REMOVE THE SHIELD OM THE FLAT CABLE. H] UM | PART NO. [ MFR's NO. DESCRIPTION REMARKS ITEN
~HG.
2. INSTALL HEATSHRINK OVER THE CROUND WIRE ON T L
FLAT CABLE AND CONMECT 7O Pi "A" ALONG WITH BRAIDED SCal | w1 |MEXT asSY: BA-Cp0/C2n SCI_TEC B e
c DAL [95.05.07 INCHES = e o8 e e o o s 7 o
GROUND CABLE. OMENSIONS 1N  foren
- OHNECTOR ™ WP |If GLAL DM rm (inches) | INSTRUMENTS (NC, promrrland 4
3. INSTALL STRESS RELIEF T C ’ CHED Teher 60CEA furtess onervine messbeat] TILE:
4. LABFL PART MUMBER OM GROUMD SIDE OF CABLE WITH R WOHES o COMMUNICATICN
PERMANENT MARKER. Finis CABLE ASSY
5. BAG AND LABEL WITH THE CURRENT OWG NO. AND REVISION . iy
AS SHOWN ON THIS DOCUMENT. I ANGRES ¢ 17 s T | SIZE [ SHEET [ootuwent maetr REV.
COMPUTER GENERATES DRAWING .
FILENAME: BA-W84 0WE fresnens ;112 B 1 o ] BrA"W84 1
Q Z INCHES
Figure 7.3-1
e oen e | pate [oue fuopo
BA-W31 SCHEM T oo — T AR
N - _ AGT FTEM T, ChG O OLME 14, 71 OOH=-372 B803.18| €W | Fa
B I BLIz fe, T7 a7 MR TG R LTS B PUIE A o wonezz [3ioio] v | e
[ s A 0 AGQ FURANE COAL 15 435V 0CH- BO4 981217] & [
(| S~ A0 ATTY Ba-wd /8 822 I_ [
h REC LA, 7T 47 WOTOR —
] m——ﬁ' 5
3 p—t E
5 GRM 2% G4, 7T CCw SEMSOR w
frol—s v
*ls gaY 23 Ga 7" cow semsoi|of
A N JiC-S—
ey - -4
o[ — B N g 2
o — o T
3 Bk 22 Ca 77 GHD M
= e
A—W31 HEM,
7} TEL 22 Gh, 87 A7 WOTICR [
oy NG
W ne
ol e =
. BED 27 GA 8° oF WGIOR 2
i
3t &
5 CRM 22 G4, 87 CCw STMSOS w
o 2
o lef—n '
* s <ov 23 o4 8" cow yensor|of o
| —N L
N T —1
IE T HE 2
4 e e s
N D 2z A g G '
' 1 20 Gh ]
L A os U ] s | e m.lwa-no. [rR— [ [P P
TAL S 31 4S5V BA-COY, $730. “”5
WoTES: - “'3”' Pk — Fmguncgms e, :‘:EE:
CHRD [ et i
Py vt 8 e e assstunr o e TR e T INTERNAL AZIMUTH DRIVE
2. 825 AND LABEL WiTH CURREM] DRAWING NUWBER aMD e v DATA CABLE
REV. AS PIR THIS DOCUMEMT. B ] s e I |m-§;«m\f\.l31 rg

Figure 7.3-2




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

(139 I DESCRFION | DK HABIR [ oAl Iminpm

[ wanus FILEAST Foroaod i |

()]

Ba—wa2

DICUMCNT 1O,

A%

R

20 80 13* r

70 _oRe 13*

- : CEOBOD. |

" 3 :’E\ T
€3
T ooy gs— -
oy
NGIES: [ )
1. USE TE-WRAP(S). 1TEMS 10. AS RIDUIRED.
Fid
o] e [ et v [ ey mi [r— | [P
= R
ETT] et assy [~ EIT
3. BAD AND EABEL WITH CUFR[N’T DRAWING. NUUBER AND GATE_ |oa.0 0| YT uSCI'TEC Tou ML S
PEV. a5 PER FHIS DOCLMENT, [ W | BUAL DS mem (ncnen) | INSTRUAIENTS INC. ;t-.‘{:‘:._"__."":“""
G Tammors ©
Sy WS, ) DC TO MAIN/LMP
""5"/ -t INTERCONMMECT HARNESS
s -
. et v ) G
it s i iet | BA-wg2 1
Figure 7.33
5 | v DOSCRELn DX rmet R [T T
=
N e, ~ias & Som] v [
1;. z ADD 155Y Ga-wES/B nre o
g3
PRy
ire gme T
fra g
Jra camoe S
77
A — W HEM
3
- 51
74 L . ey
J-
3
" fa e 7
| | L e
© [
3 .
4 50 2
. z
fie it 3 /Q‘ 33,,
—
2 . /B
#14 o 3
424 gav &” ? H
| oma /8 /nGeyor () é}. . & 'y
H— 4
#15 RO BS”
NOTES:
ACO'I" AL UMUSED TERWINALS WITH RIV (TEM 1),
FEWCVE AND DISCARD KEVNG WaSHER (PaRT OF MEM 4) =
FROM SWICH. o i
78] /A1 um | PART ML | wret D DLECHP ToN PEUAmCS ITLe
FINGER TGHILH BOOT (TEM 3} ONTO SWCH, .
SCML 23 |HOYT aSER ba-£11/Ba-0000 BSCHE s_lmi .
. " . . L P ey ek e Yo
Auac-. SWITCH's WITH PROPER GLSIGHATIONS AS SHOWM. e TT |4 UM D e (moneay | MSTRUMENTS Iue, T Z0r e
oD | Fa [ Towrances uam v e | T
L2 A-W5E ASSY: HKM 6 NQT USID.
Ar% g.x.u:y ASSv  WEM{S) & AMD 1D NOT USED. L 7] CONTROL SWITCH
e CABLE ASSY
£ BAG AN LADEL WIH DAAWMMG NUMBER AND CURRENT
REV. A5 FLR THIS DOCUMENMT comnig Py e— —alba TELT | Ga0uE Y nadsts WV
e, Bowiom L« L] BA-W55 2

Figure 7.3-4 e




BREWER MKIII Spectrophotometer Maintenance and Service Manual

CLSCHETION I Ol HAKE R | DATE Imr:m
e P srosed e}
® OBDEN
R
/R
n /1
= /¢ -
T
- 26 Gou 31 - 3
5w N —p B
L Sy R " — 7
L] 00 et 37, TR €
A20 9CE 37" -
s :
o f— L
F— K L ]
Lo L
: 125w 5ot \
HOVES:
Au,\ws TWITED RAIRS OF BLK/RED & WHI/GRH AS SHOWM, ° o | ooeer mo | wtwe na R i e
- - = RO,
. USE TIE-WRAP(S), WEMS §. APPROXIMATELY EVIRY 47 Sone [t Togn s ey | pRCALTEC Lor
BT [501 | cmmisoets 1 M3 | C 2 ST
3. BAG AND LABLL WMH CURREMT ORAWING HUMBER AMD [N wr | ¥ CUsL OMIG e (tacragt | MSTRUGEMIE ING RRwe ot rm o
REV, AS PLR THIS GOCUMENT ! [Ty T p———— T
o | s i LAMP WIRING
Fees - HARNESS ASSY
P P 3 e L
sy ] / oo § v 1 1 BA—WS S B

Figure 7.35
Q 1 50 omm
ENEEL AREN] l
o REV CESCRFICN OCl NUMBER DAIE DM, |APPD

PART _NQ. LEMGTH "X" NEXT ASSY Z w0

B WIB/A 20" |BA C230.B4-C23/BBA-C23I i ITIAL RELE45E 822 e
BA-W75/B 77" |BA-C230.BA C230/B.BA-C231 5 1

TA—WIE,C 207 8A-£230/8 -

i

-

= LDOP CABLE THRU STRAIN

Ry
Fr-
N I

[ I |

I

al
s

BLACK STRIPE ;
LG

RELIEF AS SHOWN,

-~

OF CASLE THRU STRAIN

MNOTES:
1.

Figire 7.3-6

40

| RELIEF AS SHOWH. lg—
I ¥ I
1 Ea |B1-52-618 IDC WREMDUNT SOCKET 3
1 EA | BI-4@-1) 15 PIN DECONRECTOR 2
1 £ |99-12-0%30| RIBBON CABLE 1
QTr
m UM | PART NO. | WFR's MO, QESCRIBTION EEMARKS JTEM
ON DECONNECTOR END TIRM GROUND WIRE AND USE - NG ™ o pyven
PINS 2 TO 16. SCALE | 11 |NEXT 55X = &4 T Lt £yt o 0 et
. LABEL PART NUMBER ON GROUN(D SIDE OF CABLE WITH OATE 198.08 24 | e giows = "‘SCI IEC S e T e b
PERMANENT MARKER. Ow WE |1 CUsL WS mm Gncmes) | INSTRUMENTS 12, S5 Wi e
Lnkod TOlaroNCes (urigsy wikewer pevsfeg)| TTLE:
AND LABEL WITH THE CURRENT DWG NO. AND REVISION
’ Eécsuo?wL 35 THIS DOCUMENT, AFED HCHES e MOTOR CONNECTORS
FIHISH
. DURING IMSPECTION USE CAGLE TESTER AND TEST 100% e ey CABLE ASSY
JF CABLES. — e maes s v [@IC] GELT Tt R,
CONEUTER Ecﬂ&&gﬂéf_x;m ::?:n:us. ] ‘ B l 1 B“;:..Mjf;"/ﬁ | “v
q & INCHES



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

—

0, mn
ITTTTYITIII |
o REV CESCRIPTION DCH HUMEER DATE | DWW, [APPD,
PART MO, | LEMCTH ™3~ NEXT ASSY N
BA-W77 /A - BA-C230,BA-C230/0,88-C2 51 z ’; 1 INTAL RELEASE 822 WB
BA-W/7/B 167 BA-(C230,BA-C230,/8,BA-CZ31 R
gﬂ]
BLACK STRIPE
o o,
;;f I jk:ﬁﬁ
7 F LOOP CABLE THRU STRAIN
RELIEF AS SHOWN »
* i
z E4 |BI-52-618 d0C WMREMOUNT SOCKET ?
v | s [s9-t2-080 FAGAON CABLE 1
Q1Y
B /A UM PART ND, | WIf's NO. DESCRIPT.ON REMARKS [H]
NOTES: WG
SELE El HEXY ASS; — Ex! TE ﬁ: ?Oghell'\lllﬁmllo kmuam
1. LABEL PART NUMBER ON GROUND SIDE OF CABLE wiTH 0ATE  1A08 S o suons - g vl It el
PERMAMENT MARKER, oW M |IF QUAL DIMS: _mm [inches} | INSTRUMENTS INC. SETIT vapeomen e
CHKD Toleronces (wiess omewise memedt] TIRLE:
: At WITH THE CURRENT DWG NO. AND REVISION
z EéGSH()?MNLAgELTHIS DOCUMENT. il Henes i MAIN TO LAMP & HY
FIMISH
3. DURING INSPECTION USE CABLE TESTER AND TEST 100% i i CABLE ASSEMBLIES
OF CABLES. COMPUILR SCNERAIZO. CRAMNG pags 4 1 swairs £ [T | SHELT FOocowemt wineer
FLENAME: G- WIZ. WG RS 1 1R Blls1f BA-W77
0 2 INCHES
Figure 7.3-7
0 0 mm
ITTTTWITTI
o5 REV OESCRIFTHON OCN MUMBER DATE | DwH. |aPFD
z
"% ; 1 INITIAL RELEASE &2 MR
x|
% ]
[=+)
BLACK STRIPE
Ezl
[y o
£ L00P CABLE THRU STRAIN 7 f £ LOOP CABLE THRU STRAIN
RELIEF AS SHOWM, RELIEF AS SHOWN, lg—
) 24
1 EA | B1-52-616 DT WREMCUNT SOIRET 1
1 Ea [£1-4B-100 4 PN DECONRECTOR 2
1 EA 199-12-050D] RIBBON CABLE 1
QY
NOTES: BF 75| s | Perr wo. | wrra ko, DEECRIRTION REMARKS. | 1TEM
1. ON OCCONNECTOR END TIRM GROUMD WIRE AND USE - M.
PHS 2 TO O, SCALE 11 [NEXT ASSY - " gl
2. LABEL PART NUMBER ON GROUND SIOE OF CABLE WITH DATE  PBO8.2¢ | pyurpsiones I . SCI'TEC w"v-“‘-ﬂ"'"m:“.‘;:‘h.“‘.?.;f
PERMAMENT MARKER, [y WSB_|¥ DUAL DIMS. _rom (incnes) | INSTRUMENTS INC. 570 vriorers o
1 (oree s cArerans e 4
3. BAG AND LABEL WITH THE CURRENT DWG NO. AND REVISION i deronees & s
AS SHOWN ON THIS DOCUMENT. ;:':H INCHES uM H,tC‘?gPE TBSSQMT
4. DURING INSPECTION USE CABLE TESTER AND TEST 1D0% e e
OF CABLES. aars 2 metts o v [GIZE | SHELT | Docomont sanddin FEV.
COMPIAER chzﬁnrél[ﬁwwcm VRTINS ¢ 13 Bl1a1 BA-W78 | 1
F Y 1
o 2 MCHES

Figure 7.3-8

1



BREWER MKIll Spectrophotometer Maintenance and Service Manual

BREVWER REFERENCE DOCUWVENTATION

Section 74 Bectronics Schermalics

- Main Electronics Beard Schernatics 741
-Lamp Control Electronics board Schematic 742
- High Voltage Module Schematic 74-3
- High Voltage supply Data Sheet 744
- Humidity Sensor Data Sheet 74-5

42



BREWER MKIil Spectrophotometer Maintenance and Service Manual

NNA ANEEENEEN

LTI

TOU50% 7H] 4] T35
T G w A
- T1-5 5 e8]

- L

[y 281

4 U EI¥

(el BN R A ba

asr

[5in

26

mnaH maau._.‘ H:Hu._.‘ AT

1 ..H (I
T 860 8T

1

L

L o=l

».muH ,._mu._” me._.‘

1

ML

521 4]

ar,

2337 19

1 &l

L

1 et
1227 8S0T 383 T

1

n

ety [
N N i s e
e = = === & LT
447
]
aTTaT

KIwaree €3 ——

K mhnesr s Yae -
B _TRHNAC S b i 2 )
LITUINOZT -+ (e
D i S i —— "
¥d
A I Y DI I L\ (5 P
P Iy I m] I e s el e = Y res H
= = an
_y 52T a5
Tal= Sl
1t
AAM
VA
1)
L RN L IGToouw )y 1InT 19464
¥ i ¥Rl sarAT Az i
b
»
: K
[
T S P : RO,

Figura 7.4-1




BREWER MKlil Spectrophotometer Maintenance and Service Manual

it} ! ; M
[TTTTTTTWITTTITTTI

Pam Rt
am PSTIETR
Tdd-ba
T 4l FU AT
T [ < 51
— 10
< She-ay h'd w o
Iouseua0s C uTd 5
A.h.x
“
~
—» P
4 . (i 152
G F
i =1 T THITD
€ U1 M
e — ek
FAH an
2l
)
ZZl
A '
< RI3-Y -
B
>t
WE
1
it
- e
1




BREWER MKIII Spectropholometer Maintenance and Service Manual

LO05082T

41 by

s

e

-

?

>

X -

A =5

L

n

—

b=
ff_ 10 s
Tia
et :
G
/ﬁ "
e )|
o
T T
T
] srvsres

e
21N
Ed
. »
4
P R R G RARG -
D ® ® ® ¢ T
Ummﬂ.%UmﬁzmuA_A—.zMUmﬂE»U _ KELN
Ij
| 1N
: ; [ [
wifwe | i et v | P 25 L

45




BREWER MKIII Spectrophotometer Maintenance and Service Manual

s

\ | cy
ENEENENL JNEEENEN _

Zip A hoA »

2t
iz
-
teln
2|y
2ilsy
7
LN
i
ol
7

O a
BT ~ -
F9d4935 38
R R A
Edl n e N =] «m
Rl W P P ] t Ll e
Eale sl ale e e otk .
—] [ 1 L i " I NRT 3>
o AA
A =
T EApAz .
IWAAAS _Ilv
N = ZAARS .
335 EnvE B S| 2 AAAS +9
TG
wrd FEFe e 1y
B N I el |
= SR EEEE L
- Fd
t4 S
ODD: 5 § § 3iih &
FF ¢ s .
(TN LAET 227 =)
» - H CRG
b e = W >
= ET
o= T g e 5 0 2
GMG\-E.: A% B
: T - T ; >
bl P
W T T Ry o N
NCdenr T = G btAr. ua ?
s _Jllj Y
Ml oo .
A vV
e
e i
— ] CETFe
| ]
Ry
#d )
V¥ ]
< EER
rmwii W le
7
P D R




1Bl I i B P

RSNy
frsiay

44

ZEL

PELRT

BREWER MKIIl Spectrophotometer Maintenance and Service Manual

(] Seon -=Tid

L] 30

]

Vi

AAA

| b ] ] o] e | ]

153

-

o o
vz
oot

L)

£ ¥e

FiAN

[ 17T

Y SendTEew

47




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

JTTT I OIWI LTI

 — E T
FOHO SDNC 2D TTHO

RSN LY R Y] ERTD

X 4 y ¥

Aoedtn

LT T

Fa

(3 Fean Ldd

S oy ]

3 < T
ELIoH 1l rzmazs
5ZE S ¥
, g
wl_ -l =] v N3 m,_ b ] ] = I M HR M- -
~ PRIV ) B0 P P P RE S R P
— e
QAT £THQ aTld L1¥a
b
4 <
il 2T
P 2 22778
1 1
i g
NN PR B P ~

(T SRR




<
2l
Pl

BREWER MKIll Spectrophotometer Maintenance and Service Manual

0L

i

] TroAT _uSHd

ﬂhu
oy

49




-

Ve

2 <]~ fe] o]

paLl

BREWER MKIIl Spectrophotometer Maintenance and Service Manual

z)

.

2=
=

dE
2]

(2§

0sTY S

L) Feon ufad

AA

\/

|l elede] e )=

£

N

yom Bty ]

std Iz

3 [rigine

G O wowni
e
=
—y I v |




[FTTITTFWTTITFTT:

e

T

BREWER MKIIl Spectrophotometer Maintenance and Service Manual

w.
AAA
23 X \
— & i Vo e
ASTH 8574
._. ; i A naREn - Fay
Hay ”
O
50 S 79Ty +
i ' 0
T
T
.t e
= O e
b Fd A AR 7w
¥ i .,,._.u;_".,ﬂﬁ\,__a_ﬁ._.; ~
kK 23K 2 T N n_\ NN N T ] 5had uSdd
9
—— ) e < TS0
TEND LP¥D ZTRED TRHD
L P TN YT N T T
y ) 4 ) 4 ) 4
i 0 .—...i ol
N30T g 0“ mamn s
ATE < upy o
. N
;;— T3 ~ PRI (] Sz
| N T |
,..:_ E_ - ~a wrem

51




BREWER MKl Spectrophotometer Maintenance and Senvice Manual

PRIE | | .
! N EANA ANANEEEE! L i _ S
v 23L-10§
——— v
P I0I0K YIMETZY MON y
~ O 40038~ ] A0 1TSS
A 1 A"
I8 sl
A N
. g
¥ -
<
€
i
N Fay
ks
<
— L1
T Q¢
sl pak
N AY
1 EEN &G ELIH L
{1 I0JCH v
A [ ] SudH Lasay A L
3 " i IHITH L
< €
palis A T
- &
e azL
<
T= ] T~ T
1 _ . B T . S S




BREWER MKIIF Spectrophotometer Maintenance and Service Manual

4
B s
i ) . b writ

D . oFd ¢ : SR LIES-
FAria |, TR u [ N TEET
—AAy =]
2L
AL
= 21 AAG
®rown | T s
LA ar s L tannt
LOMAlnd [ AANS sazTmtes
IR SHTH
fe——————
A A Sl O
N 0
PROATIRTTCSS ps
AR
— PN
20 e [y AAA
28y
) S— W N
) 2T
s @
At Lwis R
EER) To1d -
& o 1 A
o Wane 1 4 + 213
By 3 *
u




BREWER MK Spectrophotometer Maintenance and Service Manuat

~

v ¥
i o
Ead B
Ty g
3 2
(i &

e Lo RN

[

<) JAGEY

N 3 SnE-v

=
1.
<. B [
B
e
£
w > 41
EER . st
T T -3 iz, 0
i 2y
al= i =
- G
s
. H : [
#1a-av
v &
T 3
un
T4
e S0E-Y
T~
S _ o




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

it

e

A3HEL <}

A4HIL £

870
v o
AAN AAA
VY -

Bl | Celly

s

IS

£
raNEL g P TERID

)

szaT

ot T

—AAAT
iy
et
| v FIaA
. a e |t H
Al Bty o
LY m.D = g
g > Y
. . . LR
w o Py e o . o sau b4
Lo S PTATs P bag
8un B L - . f
y./_., ;| Tt ar) | Ceew SN AAN g
P 8ot T LAY
e
1ED
e n
-
VWAL
(413
(LD
o [rrre] T~
_t_ w _ J— _,,_ -
_ ] CTAT T T 1]




BREWER MKIil Spectrophotometer Maintenance and Service Manual

5

L, S N N N N, N N N N S

ST

R e
P YV
 ——— R e
= SR
LT o SR IV
Wz

I T

T TS
SRR P

anmr T ]

(e et

W

STIRT 2

ETERRE N

jq ¢S

ER RN + 81T i BRT-Thei g H R

o,
Yy V., [P

R Te

: by
pS
w
48 7
b
I
p L — Y H
FL 5 e
b
A
'
e
be
!
4 <
> <
R AI
{0 &
z A3
29 P
vy

s

m

Figure 7.4-2




BREWER MKIil Spectrophotometer Maintenance and Service Manual

s

it o s

HIBH LG TAe

L334
kAt
-
Zo9F
- o,
1248
O
H
B
2

At

ﬁl._IiTIITHTIITIITH‘r;ITIz

HOS " DIEAAE FARMIIZILL

Figure 7.4-3

57



-y

BAEA Sy FOWATT < SO0IE%YRa

BREWER MKl Spectrophotometer Maintenance and Service Manual

“F” SERIES

CHEE VEL TACGE PITWEE SUPPLY ACCERSORY

tophe an Bi-bdatal Bnlnidad SA°
g Poogr Suppiies dowes

,' aeg& ﬁm&a&ﬁz&g mmm Sastgid
W P BATT o B SEordioe s;m % mnd Signal Gourd pin 5. Deteiled
éigﬁ_ é?; zggg; . g%z@g foboremabin I CmoTinm or SHpHoaReg nols AFR 18

2R 4Ky SWATT < DUERYEp
44 Ay FOWATY < DaBESRVeD

BAYE M SRETY = SOWNEYHP

:{;ﬂﬂ& ﬁm e.mmﬁ Sor Bigih velinge oaRped
: "?Exa@a i v Bé geed Box
g m ng;emw High

£y
wulways: 2 f.‘.mﬂéssa Skt msts? maus;aga % aiay
wemitalen.

Sarigs aniy §8  afoeinetial
: 2 i ﬁausik&ﬁﬂﬂ& ‘fﬁ? Seisecaiure, eheak B vibrgiion as
irssgws m:;sﬂr;lmw shabes. Oymosll e "A" s0iies.

% Wk a dermperstang cooificient of
*E) ._s»gzﬁf. ;208,{ . #
'Eﬁ"tx w;s‘%zmm ?WM # di?ﬁmw esmks fm'sm,

;@Mmﬁ m&fms :ﬂmw it m'mwsh m mm

R
ﬁﬁwgm‘%(%‘%“ o S e ]

Figura 7.4-4




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

3

¥ B0 8

B

T

SEYTRVPITR

RIES

WS, Homunhumn,

59



Figure 7.4-5

BREWER MK Spectrophotometer Maintenance and Service Manual




BREWER MKIIl Spectrophotormeter Maintenance and Service Manual

61



BREWER MKl Spectrophotometer Maintenance and Service Manual

BREWER REFERENCE DOCUIVENTATION

Section 7.
Section 7.6 Oplics
7:6.1 Instrument Optics 7611
7.6.2 Foreoptics FO1 7621
- Lap P8 7622
- IRIS Achetor F106 7623
- ZerithDrive F114 7624
7.6.3 Specirometer S120 7631
- Sitrresk Motor Wiing dagram 7632
- Spedirarmeter Assarby Dispersing half 7633
- Maameter rrotor wiring diagram 7634
- Spechrorreter Asserrily Comrbining helf 7635
- Maometer motor wiring dagram 7636
764 Photomutiplier PO 7641
- Tue Asserrily P02 7642
- Hgh Soeaed Arp P23 7643
- Hgh Speed Ap Beard Scherretic 7.64.4
- Dyode Crain P25 7645

- Protomutipier Housing Assy P42 7646

62



BREWER MKIII Spectrophotometer Maintenance and Service Manual

.

o
T

8a-C191

T
AT

B

o, o T

I

- =
SECTION A-a
=]
BOTES:
l- A ST TR 155 I 65 PG bort Lo st
PLACE FIMG ATV (MU D)
o 10 st 1 s (L 1
A\ o e ot rme Bty o g R

USE 1 FLAT WaER CHCY MHDH WOHTMG CABLE COMRECTORS 70
LOLHTIAG B KT,

APELY AT SEREE LUSMICANT TO /4 OF Ing THRLADS PP 10 KEIALLNS
SCRLW IN 14 FULL CEPTH. SCROW 01 4N Wi CFT EXCENS LUSRCANT
DD WOV WAPT OFF THREADS), BISIAL 10 RROSCR DFIN,

\
e &

MEW SHOWN WITH COVER (TEM 2) REMOVID

[— [ wmm Jree

TESCHTEC S

iy e E AT

o
CCMPLETE QPTICAL
ASSY, BREWER MKl

Fareoplics

Spectrometer



BREWER MKl Spectrophotometer Maintenance and Service Manual

BA-C191/B Brewer Complete Optical Assy

Item No. Part No. Description Qiy
1 BAL192 MAIN FRAME ASSY . 100
2 BA-C1% LIGHT COVER ASSY 100
3 BA-FO1B FORE OPTICS ASSY -
4 BA-POB PHOTOMULTPLY HOUSING ASSY 100
5
6 BA-S120 DOUBLE SPECTROMETER ASSY, MKII -
7 BAFOID FORE OPTICS ASSY 1.00
8 BAWS2 THERMISTOR ASSEMBLY -
3 BM-C70 OPTIONS CONN BRACKET 1.00
10 BA-WT3 THERMISTOR, TEMP PROBE ASSY 100
1 BA-S12GB DBL SPCTRM NEW ASSY MKIll 1.00
12 8190620 LOCK, CONN SUDE LOCK POS 300
13 8379072 SCREW 6-32 X 5B HSC SS 1.00
14 8379070 SCREW6-32 X 12HSCSS 200
15 83.79-114 SCREW 10-32 X V/Z" LG, SKTHD CAP,SS 200
6 8379119 SCREW10-32 X 1"LG, SKTHDCAP,SS 400



BREWER MKIIl Spectrophotometer Maintenance and Service Manuai

e [
P~ -
5
T janrn
= lwwsiin
e larin
sl
CEmCTE
LTS
|
==
/" =4
;
Gy
o) S;‘ Y
2t o
%yt ot e ey (5 ) 9 1 s i e o § 355 vt ma
“-.-bm—nﬁpﬁ«um.hw-m.-:’-‘.-m-.:‘gw-.n-w
prnchd e e L M S T
T R T T e B T

ALMIE Sl ik
REF oM

% s e VY Bt e ey

-t i b Cuy Tt S19r f1cm 2 ot amy w o
N Faing TRy o ot VL.

TeMre e e et v fne

3 rwirn i Cumemen Lo by [ £ 28 120 s mppmte Tt 7 A g s s
frrioipdl e tip Sem ol by St prbe. g g Algegen Koy Jngm

5 g by ey g (b 1) M bk, e B g £ B e e A

2 rmn e i (L 10 g e st ey (e 1T, 3 vty e )
PRty

B e 1o s vy g ) vy axn 2es et b 1, 20
5, Prgst derred Ty ' 0 e e by o ket A gy . & i

= REV DESCRPTION DO MR | DATE | DM (APPE.
£
@
Q«m i3] 4Rl IMNln REIEASE == fag.11 5] v | w1
. . éé 2 g oy 2 =7 b2osow] rv [ o
20 64 Bx T 16 Cb BiX (Ped7 OF LM 1] WL | A LHE M (. IPTWIC BJL R
. [memes T B oF w10 | iy 2 £l il [rrasa] o Joa
T -
s
Py —
[ e = -
8 i W "
1 el “_ ST LA
N 20 A B 6 | fioor
= o
2
EEN s e ]
AT .: .!
2| 272
PARTIAL SECTION A-A
A oF
SOME HSRUWSRE HOT
SHOWN FOR CLARITY
HOTT
Acm 100 KSR (ML 1) 15 MITULLD i Cussat somnce
W BTN U' EL'VI“ SUllJCC l,' r“" L5
CINK EIP[WDWUSWJ:B‘— Py Tt O
an ‘U O tHC CLRVIO JUMACE OJ NEW I AND AbAIlﬂNﬁ M Sﬂ AIRtw
LL NN
ST POSIS mu LT T Ok ALaTeaSHER M) ONE LOCKWASHER i :# w ’ PR KO | s HO | TCSPRTION 1 PEMARKS |-1(«
pE—
FUTE [T UGk P net [0 223 10 £t o eras o Len scuc | o [roaasee  perm R
Apa e I I8 BTN S, e RSQEC 85, oo
A G bty L £ FOITED SO Tl 75 ELILKHIE W PERPELOCANS [ NI Oun Ows _wen fwing) | WSTRUMENTS INC, ST SIS
T Siniorsd (i ToEas o1 I T et
B\ MR ASSr. SICURE WAES W WOLE USING ATV (1IN 240 MPRLY RV PR OUTSHE oS oy CALIBRATION
6 1 s
s = - e LAMP ASSY
& Suec, o o I?&&“%’awn? 1) 4Pg FRIL OF NecgReTENS KL / —aw asas
= a
CNILO SLAATID QRami uE e et P
Fnibias; Be-rpOTME i 1, 0] Ba-Fos 3

Fgure 7.6-2.2

65




BREWER MKIll Spectrophctometer Maintenance and Service Manual

BA-F01 FORE OPTICS ASSY

Itam No. Part No. Description Qty
1
2 BA-FO4 Front Optics Tube Assy 1.00
3 BA-FO6 Rear Optics Tube Assy 1.00
4 BA-FO8 Fiker Wheel Housing Assy -
5 BA-FO&8B Filter Wheel Housing Assy 1.00
6 BA-F96 Caligration Lamp Assy 1.00
7 BAF106 Iris Actuator Assy -
8 BAF106/B Iris Actuator Assy, New 1.00
9 81-90-630 Lock, Gonn Sl Ret 2.00
10 50-10-030 Motor Stepper PPS-0-380 1 200
11 88-85-653 Gear, 24T, 48P, 1/8F, 1/8B, NY 200
12 81-46-124 Conn'D' 15 Cir M Crimp B 2.00
13
14
15 83-79-048 Screw, Mach 4-40 x5/16 HX 4.00
16 83-95-748 Washer, #4, Split Lock, S5 4.00
17 83-79-047 Screw 4-40 x 1/4 HSC S8S 4.00
18 83-51-786 Scrw 6-32 x 58 Button HD 200
19
20 83-95-604 Washer, #4, Intemal Tooth Lock, SS 4.00
21 83-95-605 Washer, #6, Intemal Tooth Lock, SS 2.00



BREWER MK]II Spectrophotometer Maintenance and Service Manual

Figure 7.6-2.3

el | wirwm | oo [ ]
Eg v o R | - Jsn.c3.00] wsa
T
i
E Ea
CORF (¥ 2 LAREST
o N BasE OF wGToR
3 e Bl ey
. D 2
' Bl L] -
1
N
it
mn
i
a
e Lol
o
SLWOEED
e
17 Ll
. R
N B
17 it N
£ : =
5 U
SCHEMATIC
N—
1 12
2 =TI U | Awdl we nrr;ml DUSCRP TR ROCUARKS L iTTW
CLOSED G
T ST YT T T S
T — e | ESCHEC R8s v
D] sn 1o oot b T Geny | ISTALMENTS. o, S s e B2
MOTES: =) Tasranaer e st weon | WILE
PASS SENSOR WIRES TURU HOLES IN SPACER BAR AS SHI ;3 ] IRIS ACTUATOR
PRIOR TO ASSEMELING TO CONNECTOR AND T 2WRARRIG WRES. / e ASSEMBLY
AFTER ASSEMBLY CONMECTOR LEADS USING (TEM 14, » war - s ELa) TR e oV
L sssiwanr s con S s i v o TEATFi0sse |

SCHEMATIE

DAVAN

e aouenro
wves ou Ner oy

g,

Awsuu U8 TV 0) 10 WOMDE (0N, 443 WO 4 8017 G0 BITWIN et
4 MaING 19
&mnn FPrs o ok KT r) 10 JIMDR Gn Bicriese, 10 it 1
0 M T Ti0) O

/N s mewy 1 T3 A0 U104 1D T 5SY, IR IV O B 4TILD
SO e Gt S
{0\ Mg wrss ou min 3 4 930w umLeLn s it o
Sy R e
o

Au-auw. {16 1) STA GUT A T CIMTE 05 71 AILACIRE T AL,
SAEPUTING Tl TS OF InE SR (a4 BOH W), W ST T Qe
LupmciTE oo r ot mEe a8
SR Wi e T [XCTRS 43 T (TR SRS
A\ apioss vt ey e 3 1 vy e s < b

.&*’ oy ns'n B terme o sxeucrr sa T
Gl N AADCE 0 ICRALE NAW 5 o,

E—"“—...»..—. o Scenn ~

.
e
ot

Figure 7.6-24

67



BREWER MKIll Spectrophotometer Maintenance and Service Manual

Lt

AN\ rugu mu 1a cun 5 e 6 couous: 2 Ay 1N v TN
o o Dadual) 177/

Amm LR AT SO (WM WOL b Y0WIDS W 57 TRALY USHG LT PECES
SROM TTU 3 10CATED 45 SHOMM.

Am M CORVICTION LOWG, FRSD MSTALL (M maSa(w (RICLE 13}, I LENS —

(G %1, THEN WIION Wb ? ([N 430, SRl idabe N (EWG SREAD WETAILY

BCAUEN(D Wit DL SCHEE LMRK 0K THE AING. LGUML, INSIM L LA B COREANE

SHRFACE FAMG ENRANCE BT,

1, DAL sl WU OFTICS A TRAM 45 CESCRACD W 1F-BL-C13) {0NICAL TR
ANDN FRCCIDRCS Y

2 PERHODY ACCTPIARCT TEST PROCITWPES PER 16~ GAS1I0 ISOICIROMENC P 40T FIANCE
S o)

JANT e e—
LEEK oY AR ALR(AR,

3\ ApHEmE 4 KumOR <tmP tF Fies (N1x ) 10 0505 O LOK TR (M0 &
10 CUSHIN 3010 [DCLS O LO¥S [1( 161 WO D46USY DA STAP 0GC5. hOT
LML WTH THE LG PaTH
SIE ST 7 OR SAUTICR MR WG GRRRA,

ADRCRL WO TEW 1) 10 BTN G UTIT AGESHE (MM 25} AND
ST G BATSII0RAI,

- FRONT VW OF DISPERING TIIR QM WAE WR0R, LUSLIT WAROS MOLATHG BLOCKS [1TEW 0] 1A LOLmtD
,:::P,.«@ R (AR 1) DALY &iammmu DUTES A0 S0E OF T TBONS PLITES. PR £iw malF.
A w1y wescen 1 Tmcaos 200n 10 LG

PO D ORENIATON E M 2 | EE e e
Tives Sa0f, &aMes COCZ) et & U AENIDN ASSEMELY 15 TOR B-3170/% OMLY. iy s i 1 _ZI e I 5

DOURLE SPECTROMETER
ASSY, BPEMER M0

Figure 7.6-3.1

g i vid TF
5 =
& ° > @
fait P s @

Anu:;—:

Y
\.A
N

wasaa
@sanr

e v

H

=
COURLE SPECTROMETER

* LR o o ASSY. BREWER MKIN

M P ooty e e ez e

Figure 7.63.2 68




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

BA-S1208 DOUBLE SPECTROMETER ASSEMBLY

liem No. Part No. Bescription Qy
1 BA-S110 SPECTRMECH ASSY DISPERSG 1.00
2 BAS112 SPECTRMECH ASSY RE-COMBINING -
3 BA-S115/A GRATING SUPPT ASSY, DISPERSING 100
4 BA-S1158 GRATING SUPPT ASSY, RE-COMBINING 100
] BM-542 CORRECTION LENS 200
6 BM-547 SPHERICAL MIRROR 200
7 BM-5130 SLITMASK MOTOR MOUNT , MKIII 100
8 BM-588 LENS RETAINER 1.00
9 BM-582 MIRROR MOUNT 200
10 BM-534 PLANO-CONCAVE QUARTZ LENS 100
11 BM-S129 EXIT SLITMASK, MKNI 100
12 BM-5127 SLITMASHK MOTOR MOUNTING BLOCK 200
13 BM-5121 WASHER, CORRECTION LENS 200
14 10714010 FLATMIRROR, 1.5"x 1.5"x 3mm 200
15 50-10:033 MOTOR, STEPPER, 12V 48 STEP 1.00
16 8146-124 CONN"D"15CIRMCRIMP B 100
18 8379067 SCREW 6-32 X 5/16HX 400
19 83-51-802 SCREW.8-32 X 38BUTTONH 1.00
20 83719047 SCREW 4-40 X 1/4HSC S5 200
21 83-78046 SCREW, MACH, 6-32x3/4 HX 1.00
2 8319027 SCREW, 2-56 X 1/ HSC S5 400
23 8319051 SCREW 440X 12HSC SS 1700
24 83-719068 SCREW 632 X ¥8HSC S5 1.00
25 83-78070 SCREW 6-32 X 112HSC S5 400
26 83-87-179 SCREW,6-32X1/2FL HDHS S5 1.00
27 83-87-211 SCREW,MACH 10-32X58 FHH 1.00
23 83.95-747 WASHER #2 SPUT LOCK S§ 500
30 83-85-748 WASHER #4 SPUT LOCK S5 1800
K1l 83.95-14% WASHER #6 SPLIT LOCK S5 800
32 8395830 WASHER, SPECIAL 781D X1 200
B B5-10:905 ANTISEIZE LUBRICANT 200
K2} B5-10-145 ADHESIVE SEALANT (LOCTTTE 242) 0.10
35 8510150 ADHESIVE SEALANT (RTV 3145) 200
¥ 98-10-010 SHEET, C1LOSED CELL NEOPRENE, 1116 400
k) 8808122 RES, 100K, 1/4W, 5%, CARBON 100
B 89-70-030 SENSOR, OP SW, SLOT 0.003" APR 100
39 99-20:028 SLEEVING HEAT SHRNK 0.093 013
40 93-20025 SLEEVING HEAT SHRNK 0.046 120
# 85-80-450 TIE-CABLE 4-1/8X0.1 NYL 18 400
42 83.51-763 SCREW, 440 X ¥8BUTTONH 100
43 83-51-765 SCRW 440X 12BUTTON HD 1.00
44 8351-754 SCRW 256 X 3B BUTTON HD 100
45 BM-S132 SUTMASK SENSOR MNTG NUT MK 100
46 BM-S131 SLITMASK SENSOR MNTG BLK MKIN 1.00
41 BM-5112B SPECTR MECH ASSY,RE-COMBINING 100
13 BM-593 SHUTTER STOP 1.00
49 8385011 WASHER #4 FLAT S5 100
50 83-79044 SCREW, MACH 6-32 X 172 HX 1.00
51 83-40-257 HUT 6-32HXHYLON 1.00

69



BREWER MKII Spectrophotometer Maintenance and Service Manual

FEa ] K I
(s TS
=3 [EXE 2
g.'a‘se
S
1 el AT iy (O 1) 15 D, T G SN0 e b5
e e BT R0 ToeeUOn X o vt ML 1 B
7. DrLe w0 nte 12 & QoM 1 MU,
3 DAL VA AL 9 4 10 T WAL S 10 TIRI OF Rl T,
0L DG DU CAARITE AT BGHTT A1 [P O AL 1) 1 WAL 10 M U3,
5 DVRSC B 1t 11 1 AL 10 BN OF AT . Fe o
& DAL T UCROMCITS SHAT [P BF 1M 1) 5 THRU RILR CENTRG. O o bl hadd ke T
Bt 71 m o e s 0 e, 7 N o+ s b usmc e 108 5 T s (i s 15 b o
TAC msh, a1 W AE CoLPE & PECIAL o 100D TE St BT T,
oS i SACE 1 144 £ T TG BRI 10 BRI S56e 7 10 fat KA
i ol S5t Tt T WP (5 0 Tt 4 TACADAL, IWSTLLE 10 RROALE 0GP
ST A T IOR WEHG OCURS P LACRCUCILE LSCR, o CRNE T A N LT T
S 1O LK AT TS DL i Mak03 COMMTION, O CA0E 4 e K LM, =
B
MU LIS LOuAT iU 20 7 PRAWTE 3 1T Bsc fpre e
— =] ey | rrrrvcers .
o il an
ATTACH Pn R0 PG (0T 1 PO 1570 9 Fim mBtan 41 T WO DL, i e = FICTROUCIER MECH
P L TR WL T e B, BACK AT T Y MG LOCW i T on . DASPEF .
Py B e / s s )
e | w2t e v
R i — 1,20 Basig |2
23~ | e 2orvaawr | wx [om]
=il e e | Y C
E, Ei T I Y TR N T
L
i
@t
et

SR wTeR

2 . v

NEPOMTER NIWR TEHEMATE

st TRI SPECTROMEIER WELtH
" 2557, OISPIPSRG MALF.
EREWER Ll

Figure 7.6-34

70



BREWER MKl Spectrophotometer Maintenance and Service Manual

DO

- § ook

T PATROMEE S5 (AT 71 AS 3o o DH1G NS0T WL w RIOUELO swy
‘Wiie e s GEBT 10 COPAITERRT (L B3 WAL FULL HNCR OF MOTOR WBT5,

2. ot e o0 13 1 3008 0 10

o e 413 3 8 1 St 3 13 2 0w 13

it bt AR e PATY B S5 (a8 70 ) 8 AT 8 T2

3 (ot 1o atn 22 1 P 0 s 0 3.

© L s AR {3 RO 1y o P e

5% mon .10 st e itk ¢ sy, # s 00 0.8 AL
Tt 0 20y o, X LTI F 2 O 18,
B i, Tl s el S S B e i
ECR[H QU7 ey WASL OFF [WESEL UERCAN 00 MON WRC DT TRR(OG: MEAL W) Tl BPETL

E PN T 0GR WRNE DOAD OF MCROME(E Wi
S g3 CLE @) T D wn QAR COMECUR, ORCS CABL 420 TAW FOF LIKGYL

Sy 1
O fual seeru

LTACA Dt 30D BN [P 0 KCWA) 20 $OBT DR AL 41 BE T (VL
e 10x3 rar;
£, 00 rson 1551 (e 1) w60 vnmEDD LR SurvOm EAREY (e 3,

& TACR 70 ot SO L (018 1) A 140 scrc (o €3

A3 sore wnster so 1 e g wetans. orere mw

F -

w1

60 e 2
P o wan Semol ciml LN M) W B el el BRALCH Wk WK B4

G W I LU RO TR

WL WTALLR TS 41 2 51 TOMION DOV M1 G Wex, BIOC 0S5 TG RS,

D LOGk W13 AL,

UL SCPAL s o

TR et o i o7 retust SCeb T €0 FOR A2

" SPECTROMEIER MECH
ASSY. RE-COMBINNG
GaLF, BRIWER wer

o2 [Besug [

rmmaee scu s castmt
SO s e

Figure 7.6-3.56

NERGUITER MOIDe SEiuri

eraenen oo wamr | wx | o]
e i — Fadeiw

XYL TED r o] o ¢

Forten o wers 7 1) ST

s ez
[T
FLPPER WOTOR
T LR
e 1, e s | e, e v

F=rrry
v

BSCHEC 2z

vt ot FEEA T

™" SPICTROULTER WETH
ASSY, RE-COMBINING
HALY, BRLWIR M=m
5

Figure 7.6-36

71



BREW ER MKIl Spectrophotometer Maintenance and Service Manual

rd -3 50 -
4 3 by 2 | 1
g |av r— sounimcn | ore Jown Jseeo]
g
=3 ST 1SE 391400 i 700
i wad &6 Yook 80 wn_tent08_[arnor| | n
88| o s o e v wori s R TI CTT A
B ABE EM 2 REWO 1TERS Pow 22 [Lkd) vo e e Iv | e
13 SEE DO Oh A0 2784 N) o0 D

)

Q ATTAGH {AGEL WiTH Pl SCRIAL NUMEBER

HOIES;
1. O COMPLETION OF ASSY, STGRE N A CLEAN PLASIIC BAG, SEAL AND
LAELL WITH DWG MO, & 15SULL
2. FOR ASSEMELY PROCEDURES, SCE APOI-BA-PO1. s -
3. CONT THREADS OF PMT COVER (TEM 4) WITH TEFLON SPRAY (TYGADURE TFE SORAY) - e | PARL D, |85 A0 BrSGRPIh it L)
Scut | 0 [aprase e witae
USE RIV (ITEM 22) ARCUND THE 9 PIN CONNECTOR FLANGE TO PROVIDE SEal. e A TE — BSCHEC 25 v A
o FR 7 Dus OMIS. e prored] | WITRUMENTS g, ENTIEITT 4T TR
G| Rs_ [Taronces omem anme memso] WRE
a0 | oW [T PHOTOMULTIPLIER
Fre wads HOUSING ASSY
—_ P e A O ED
e Clig1| BA-POi 3
4 | 3 MHALLL 2 1 |

Figure 7.6-4.1

o
wn
-
%
1
L
ro
|

= -
B =
iLL A
i i

© [ (e} o |

: FEE—ERe .

Paco

1. ASEUGT T WCOTEST B, V0w, 118

2 Fon Trwet sokushc 4L kK

5 LI AN 5790 BAE L UGN O FIVT #TI ML K MY e,
B0 (D 9 T P

B A TR 147 G A (100 J1] e I ERtd Fo
3 ECE %I EACTWEL 41 3 DML R W MM AT 4 R Pt (T 3] —
‘Ee r

" -
'w! .urm =, oar

1 Buns THE PO S TUBIRG, TV 313 CLRF A SIELD D S O BN
LA T K G TG 0 AT CCR BT 10T 303 M c
% RO I o LG OONRECIOS (5T T3] AR TLON ks 6154 251 % ¥

LUETAONES By AN OF NEN Y. [WR THel B ANERTHE Rl AL

L e Sl Tt ¥

K 0L PAg FELAMCE (T 3 TOW 3 G i, S 06 TEW S 0 ) 10

CUCCRwES B3 Al st AEs 35

& vwied Taf el SMi B ot by W D LT et et A
NG A TR R

- 2 70 iy e et ) G 7 e

R (0 o (8T 8 ke S L7 0 ot iR e
g T [

12, T VTG EOA ) SOLEER 1 T B VLG EXRECHR,

T MRANT B T M0 14 LA ABE LF DA R LLIOE WK 1 wmer |
IEHCT Brbet ) WL LA S A T Tl LS i L 1
.

4 FUB I AN oY 0 TH ORI

5 4o 41 GACT wer LD} 0 LI 40 NG E Y Fomc Lrn ragy 8
gruooe £3 [, LT ([0 Wy 00 TONGH P G, AR 14 G
g e v g 1L

i STIHL THE A CRMOE MY {De 9L

1L, #IUEE 230 A1 OF T L 58 3 000w <S3MT G WORT TERL

e U e o TS 4 e LW N3O0 /8 5 ) TG TR
LTSy

L e A LR SuebB o TTIY ST W ETARAND 857

™ proToRnLTIPUER
TLBE A3sY

B Een |5
! |

Figure 7.64.2 72




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

BA-FO1 PHOTOMULTIPLIER HOUSING ASSY
Item No. Part No. Description Qty
1 BA-PG2 Photomultiplier Tube Assy -
2 BA-P46 Ultraviolet Filter -
3 BA-PO2/C Photomultiplier Tube Assy 1.00
4
5
6
7 BM-P16 Lens Retainer & Light Trac 1.00
8 BM-P17 Filter Retainer 1.00
9 85-10-790 Sealant, Contr Volatility 0.10
10
A 83-10-620 QO-ring, #020, 7/8x1x1/16 N.B.R. -
12 83-10-628 CHing, #028, 1 38x1 1/2x1/16 N.BR. 2.00
13 85-41-115 Label, Adhesive, ¥/8"x1 1/4" 1.00
14
15 70-10-012 Dessicant 2164 Minipax T 1.56gm - 900/gal 2.00
16 83-95-748 Washer, #4 Split Lock, SS, Med Pat. 316 3.00
17 83-87-161 Screw, Mach. 4-40x1/4, FH, HX, SC, 82D, SS 3.00
18 83-51-762 Screw, 4-40x5/16 Button HD, HX. Soc. Cap, S5 3.00
19 83-56-143 Screw,Set, 6-32x1/4 Cup PT, SS, HX. Soc. 1.00
20 10-10-020 Lens,BVCX G1 FSD QTZ,38.1 mm D,38.1 mm FL. 1.00
21 85-80-385 Adhes Transfer Tape 0.75" 3.00

73



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

COuMTER cOIrED Sme
kst 5+ 512w

iescran 4 1

A

s | v DEstReTon ocn mupe | pare |, fsrep
=
=8 3 = e[ w [
S = e ————— #505-pon-23 (40t | £r { W
o s PN ADATON il 8801 4| ow | s
&} RO DG 81 uAsTE meiE 150 asanzz| o { e
r CHANCE AEM 13 X 11 8 AL ] 43
SIGNAL INPUT
GROLID
= ™ couponer sne
2
ORI G H
2 2
HOTES:
ENSURE THE TURNS OF L3 00 #CT COME 1N COMTACT WITH EACH OTHER
0 CONTACT THE 9C8,
ASSEMBLE GOMNECTOR (ITEM 23) AND K/W AS SHOWN. TRIM PINS TQ
SROIRLOE .030° OH COMDONENT SIDE GF BOARO AND SOLDER 1M BLACE.
THE NUTS aRE TEMPORARY ONLY AND Wil BE RENMOVED WHEN (NSTALLED
AT THE MEXT ASSEMOLY LEVEE.
3, TEST fIIJISNED ASSEMBLY AS PER FOLLGWIMC:
&TAPPLYG —os IV iz FULSE TO SGHAL WPUT (P, SISHAL (CONX)
38 TP1 — 30w ALMUST SGT
Ty Bre s Seiere SiiAL -
30, TP3-h CET |r‘¢>;ga‘.r|rﬂ|:wur 3ENgec WIDE. = wi am no | wewr o, cescrpton I T
7 = w
IE. TPI=50DKH: SOUARE W SEALE 4 LR 2880, b 1953
3 CynetaT Daa B 20mas 20: —n1 DA 3. wt Tt o s I SGHTEC 555
=}: ;' —EN ) | DUML DA e (k) mswwzms e B
e DA |Taerances foa visas wuip)|
G ”L‘C( TESTED ASSEMELY iN ANTISTAT
s TATC BaG AND LABEL cren | on woves [+ HIGH SFEED AMP
A5 TESTED 10 B4-P23 PROCEDURE mm/ e BOARD ASSY
v W TG L
N i s IS
Figure 7.6-4.3
o PLv UOSCPPTN
.
& 0 oty oS
éé - Wiy 4§35, To60a-e4
1 CHG O4 FRDM DWIBJAA TO THINE ki3 CERRKE A2
| s
" i)
i - T 1o ! ™
b o 4 i T " m
=
1 vew o weut] o,
e
™
= [l @ Ll s
- ™ £l 3| " 16 A .
L Lo i n
- s ol | o o,
e - e | L3 2 21,
0 : :
. . ) s N o . '~ =
& L4 ° el L PN *
e
S| F g " 0 - 0
o,
T A s e |
h "
Vet eff}s w o | e e
Ol (R o
R ) u o T
. L] |
*) )
=
HOTES: | panr o | wews v Pesme non e v
=
1. CHOKES L1, L2, L4. 15, L6 AND RESISIOR A7 NOI WSTALLED. Sat s i | CELTEC S
04Tt 4170 SR T ST
7. CHOKES L1, L2, L4, LS, L6 HAVE BEEN REMOVED #ND REPLACED D |7 Dhay bary mem [rereey | INSTRUMCHTS INC. T -
BY COMNECTRIG TRACH, ST | et |Toiworces lrom sree memen] WL
P I ™) HIGH SPEED AMP
K e wram BOARD SCHEMATIC
maive e 2.

T onT T
Bs-p23 Z

Figure 7.6-4.4

74



BREWER MKIIl Spectrophotometer Maintenance and Service Manual

[ ’

-

CAFACIIOR WIRING (REF)
PIN 13 <=C1—> GND LUG
Py 4 e=(2—> GND LUG
PIN 7 «~={3— CND LUG
PN 5 <—Cd—» GND LUG

FRONT VIEW
(CAPACTIORS NOT SHOWN]

30 mm
IHNEA ANEE!
g Jrev DESCRIPTION DEN MUNBER 0210 | Dwm, |2PPD,
%‘“ 1 FIRST 1SSUE BLH- 351 g1117| tw | Ra
§ B;: 2 [FEMSE NOTE.ADD TEST PROCRELCCAIE RI5) 447 8810 | Cw | RA
§ St 3 CHNG A3ST PROCEDURES —i 262 951023 cf

SIDE viEW
{CABLES NOT SHOWN)

4, NOTES QN CAPACITORS
—TEFLON TUBING SHOULO BE PLACED OVER THE
CAPACITQR LEADS TO KEEP THEM FROM
SHORTING.

5. INSTALL CAPACIORS CI 1O C4

B. INSTALL THE SIGNAL CABLE (30). ENSURE THAT THE
CABLE IS PROFERLY GROUNDER AND WILL NOT SHORT.

7. WSIALL THE HIGH VOLTAGE CRBLE (25). ENSURE
THAT THE CRBLE 13 PROPERLY GROUNDED AMD WL
NOT SHORT.

8. CARRY QUT & WISUAL INSPECTION OF THE ASSEMBLY
TQ CHECK ALL THE SOLDER JOINTS AND COMPOWERT
LEADS.

9. INSPECT THE SOCKET CONMECTIONS FOR CORROSION
AND SOQUEEZE EACH OME SLIGHTLY TO PROWVIDE &
BETIER CONMECTION FOR THE PHOTOMULTIPLIER TUBE.

L —

HOTES: Q7Y
Lisd PART MO, | MER™s NG, CLSCRIPTION REMARKS ]
1. ASSEMBLE THE NECESSARY PARTS, TOOLS, ETC. T
SCALE Hig KEXT ASSY. BA-POZ 1996
2. HOTES ON RESISTCRS
—RESISTORS ARE 10 BE MOUNTED TG PROVIDE CLEARANCE FOR THE oot 870007 rsions e ESCFIEC e s R R
GEASS PROTRUSION ON THE BOTIOM OF THE PHOTOMULTIPLIER, D % |IF BUAL DS mm (inghozy | INSTRUMENTS inG. ST T2 b2
—SOLOER CONNECTIONS MUST Bf INSPECTED 10 INSURE THAT NO TRD | FA | Toerantes reem mrmsin swmest] DTLES
COLD™ SOLOER JOINTS EXIST, o e o
3. CARRY OUT THE ASSEMBLY SEQUENCE AS DESCRIBED Of BS-P25 (2)  [rmsd - e DYNODE CHAIN ASSY
—_— AMEXES & watsd ¢ | L | SHEET [ oocusint muecr rEv
COMPSIER: GENERATED QRAWING .
TILEHAME: BA-P25.0MG HheSTS 1 13 B 1.1 BA-P25 3
[ LR T3
Figure 7.64.5
4 3 Munun) sunnn AN L |
g REw s Tien BN NUL R [ oAt | Owie |4PPD)
;;‘ 1 st Ml —  legoazr} on |
g 1 2 STL PoM COH B aT4e.20) £F
Sd
D D
C C
—» l—
- 0B-.12 {REF}
=} B
HOTES;
N ASSEMBLE aS PER AP-BA-Pa2
4 PERTORU ACCEFTANCE TEST PROCEDURE PER 1P-DA-P4Z. __
ATTACH 4K nuu{sw[ uI[L wmcmmc ASSY PART No ISSUE,
ASSY SERIL NG AND B NO. WHERE SHOW:
4. SUITABLY COVER OPEN END OF ASSY 10 PROTECY F.M.T.
AND SECURE D=RING.
3. PLACE AiSHED ASSEWBLY e s CLEAN PLASTIC BAG. F5] o | e e | w'.uol orsem1on Bruans I.-;u
oAl i L= yi:]
A ot 150 omtmss o ncea | B ICHTEC S8 mem sy A
e Tw | ¥ pust Dsrs: mam fecras) | INSTRUMERTS BHO. 350 R emres oo
N I [Ty Lo
F I T w PHOTOMULTIPLIER
= e e HOUSING ASEY
) I oor et Bl 3 7 3
E 4 3 °|_.I_I_L+_I_I_LL s P 1
Figure 7.6-4.6

75




BREWER MKHI Spectrophotometer Maintenance and Service Manual
BREWER REFERENCE DOCUIVIENTATION
Section 7.7 Brewer Qptions

7.7.1 ption B- Azimuth Pointing System

- Azirruih Tracker and Stand 7711
- Agirruth Tracker Uit Scherralic Co1 7712
- Adirmuih Tracker Board Scherretic 7713
- Adirruth Motor Wiing W20 7714
- Adirruth Power Supdy Spedifications 7715
Reference Acceptance Manuall Soc 2.1 thru 25 for setp and meinterance
eabsbule

7.72 Option C- VB FBI 7.7-21

Reference Fig 7.1-5 of this manual for further inforration on Option C.

CAUTION: Quartz Hemisphere (UVB Dome) is fragile. Ensure UVB Dome is removed and
packed separately when the Brewer is fransported.

7.7.3 Healer Option- C223 7.7-a1

76



BREWER MKII Spectrophotometer Maintenance and Service Manual

P

20
009 == (4) 10-32 SCREWS FOR SECURING
~————"" BREWER 10 TRACKER
T (3) 3/8 SCREWS FOR LEVELLING
POWER SUPPLY BREWER OPTICS
TRACKER POWER | T o
GN7OFF GHITER SAFETY SWITCH & STEEL CABLE
LED SENSORS AND BRASS BLOCKER
LIGHTNING FUSE HOLDER (24 TIME OELAY)
7| %
PROTECTOR BO INSTALL (3) 3/8 BOLTS
N
NORTH N —— ACLCESSORY AC POWER

|

POSITION / -
3 - AC POWER IN
GROUND STRAP M
.

[PART OF TRACKLR ASSY) Do 10 EARTH GROUND
. (SUPPLIED BY CUSTOMER}

INSTALL {3} 3/8 BOLTS [ T

FOR STAND LEGS DATA CABLE - TO COMPUTER

Figure 7.7-1.1
- e[ ot [
1| seomun wix come - ste ptw FITEny iavas] v | L
& CORFIC] WAL LEMGIHS CEH 43951 ™| o«
& CHG COHTRDL CAOLE wiPriG. OLWETY 2,01, L
7 200 JUrTRG (e 61 SowErE Sienas] v | WL
S [ AR 0F B -uz1 8 SEL bar TCNEOs 7017 T
f RO fus 5 — 7o
o . | ; e TO P205
Arars
SAFETY SWITCH
i) Wi i ;
T PART OF BA-W21 POWERLINE
Deny ! oF Bawz) } EMl FILTER
5 ax fis as B w23 )
[oimy
5 san die 12"
(euten .
{riu W)
1] hx F18 407
=)
oy oo |
TIcH
[rers)
10 J200
POWER N
npte, (PART Of Ba-w13)
i 9
wn gea wt
At
(LT
. o1
; ; 7
Ll
I [
P(];fl)ﬁ‘mtolg'.[ 5 .
(PaR1T OF BA-W30) —
10 AUx AT
e w2 {PART OF Ba-WSE)
. 1 #a T
i st 3 AZIMUTH TRACHER
¥l e s sf | COMIROL CaBLE
E! et = | 5% INSTALLATION .
S le el f (REF OMLY) i W&o
5. Ie. L LA 5
B, I 03 . Eg e e l PSmTIoN 1 FOMARKS im«
a8 12 o, g 2
ax | Y=o [Eent [ —— ot sis oot e
ey wa | Bt Tomn e | INSCHTEC 52 - oo
Bl e e u e[ br |7 D Duis e o] | WTRUGENTS mig, SEGIAT S
N T Cad 1EHIA0C4Y vy mer irw motwnl ] TOLLE
[ TS ) UHIT SCHEMATIC,
; s g o AZIMUTH TRACKER
T P = T (33
L o TS 1

Figure 7.7-1.2




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

L 30 mm
4 | 3 b 2 | i
T oo | s [t [ou]o
2
:‘.§ [l ross s | e || o | =
5
4
H
ey 2201
14| J2E1=CTA01 ¢ D
0z B
1 R201-adc < .
1 A [ 5V s
a5V pCIGI- 108 45V
R211-3.1K v —— FTe 3
a1 o i R N —
; - i -
5 oo . n - |l T R207 - wl g
2 10k 7 =
% saz e moe — - . |eREY | I—HJ H
I 2y 136 Y «
l 5, a8
P15 S = b r L 9 3
RA-47C 1o - Age T
~ | 2e——nn L Lag-ep 40 C
w +5¢ LETO7-ICAT 45V ES o
g A2 y ; vl
' 1 = 2
3 W [Tt R S g7
£ o 1 R233 i
£ : o
ERN R = LA ) ——— jr3 &
(=] 18
& T Lo ] L3 e [
22K 126 i 2
£ 1 L *
53 '
i B - ' Leg-
S
- [ 2
R 1 17
Wiy 3 B M 0Af L 2 bio
\ siT 1 S I_..
p= 8 H—H -
E 94— é e 1 B
o 10a— N - 00 -
g 11— 1e
124— MC
13— 1 BV /oW <5V
H‘A___-L I‘ RLET -
—nc L = vR2 NC NG MG NG NE
1e— e T B Y
17— NC —_—
18—~ NC
tad— g
Hf— M 12 i 3 R
iy g 108 - CAP- 15PDA
N I (1 PZ05-SLE B5-C9) 1
244 3 L | FePl HQ. | LR MO DETRPUOH BEUAATS L
B St PR e
o T J— NESCHEC BEresranre| A
£ 3 ISTRUMENTS L. Tome cameurs e
owp | P EE:
T P.C.B. SCHEMATIC
s v mrom AZIMUTH TRACKER
oy Tiem
4 _— Pt L LER AN E. 3 I P e BRIV
O s Ws-tva v o 4 Cl1a1] B3-C%9 1
4 | 3 A ) 1
Figura7.7-1.3
s =0 v
4 | 3 |+ T 2 ] 1
2 B BSOAPION D HA S DAL | DM | 4500
= S st st 063 HADEE
|- B4 0= N =T LA
al z StE oo estz-Don-288 |Er0i0s] oF | mu
a3 SeE_oow e 213 ena107] o | Fe
. T T 1 5 T sl w6
5 [CLARMY BOTI0M MIW OF BLOCK & SIN BCh 331 okl rv | R
‘ T P LT I
WHY 22 G [F]
WHT 22 &My
wHT FROM RLD 22 {MOTOR WIRE, 5 —
f e < oy REQ/wHT 72
EpEge g MOTR W} o
“ NDIH
Ra) | 3AOSUNONG ol 2o tunion wmmmm) ¥
BLK FRDM _WQT GRN/WHT 27
B MDTGR WHINGY o e i f frd a
BlK 22 & <
BLk 27 _674s| Po0z
By 24 17|, P202
Irap vt p4 W0 ra—
i : | EFFECTVE CABLT
DAODE. u ot 24 197l LERETH 167
0P Blw 24 197, BRNAVIG
RED 24 197},
Top_COW wip 24l B
GRM 24 187)
BOIES
1. LOCK AtL UNLOCWED SCREWS WIFH MEM 13,
i
CuY WiTE ANS BLACK WIRIS TO 6. SOLOER ADCITNAL WIPES w | No.l uw.m'
AS SHOWN, COWER SOLOER JOINT Witk HEATSHRINK (ITEM 20). = I;I
o Jerer
5\, APPLY RTV iTEm 16) TO BARE LEADS MAKING SURE RTY DOES T
NOT OVERLAP FHE 108 OF THE SENSOR. B (O |¢ b own o fowey
4. TEST SEMSORS USIMC Ba-wld 2aD1/Ba-W20 ADAFTER. [ Larerons (1 Ivmd mreass e
/ P . T = MOTOR WIRING
Yot AZIMUTH TRACKER
- A ] G
ot g s ol Y i e
3 I 3 AL o2 1 i

Figure 7.7-1.4 78




BREWER MKII Spectrophotometer Maintenance and Service Manual

fﬁfﬂaﬁ THAETYT POoWER

" ECHRNOLO G Y
VT 553:’2?}{ SG

| SeseTEe ¥ BT-S0-088

(T8O~ 144~ I XA}

FEATURES

« $I3 Watt Swiivking Power Bupply

« Hivpe, Sunt ane e Dudpol

= MG o DGHDG Mogels Mailabie

e Leew D0 it Mg Praver fepis Ratie
+ Crmreniteds Ll Protection

Bk Fiesws;ﬂtt@.’f

SPECIFICATHING

Efifeinney B Saput:
Sogn Dulnut: 750 Trotue! PR M
- Migtsise K put: TS Fioieat AR Mt
Efticinnesy D lopat:
S Chepod: 7505 Toained 5% A8
Midsiche Tuipul: 1606 Typiowt 06 Min.
e Sop Dhoionds Hone
Sgrn-Lon S T _;__mwmmmwﬁwmm
Fritre O Ths: W00 meer

Ehock & Witemion mwm wiiifebs i e Ia DT e

mmmswmw; 52 s andvibration gpndiiong.
9 R Sk Bromired ey B sra. bk Cfrpst Prgtoeanesto Do bl for shvaion ol e ol
mwe:mmmm oot
Fipmpbe: B30 phopie M mwwaﬂewummmm
Wmﬂm gm@ﬁ%wwmmm&mm Pygstatine Ly, Y Culpiie: J3%)
Trarnpiors Fnayenas: G5V sspomion for BSbtn 0% e 10 o 0% Shnemadattivr: e, ndiged S, 4 335G

wmwmmwmmmmmmmswm Fugrrateny L A Oher Dulps sémmﬁwim 185
Gparsiting ey ~20 D +80°0 Ruvd Pale Pl Lowd. L i Pl o Daren
“m»{:mm, 3 Lowc. Damin inaady o S St R0 ¢ ﬂimiwm&m T e T a1 48] 75§ R
s gowerd | BE L VS P o | oG ¢ W

MW <BET ﬂﬁﬁc 3
B WY B0 2T R awmwmwa AT m#
B VIO 295> 5 RRAN 5 BRSO PG B0 5 BURE T
Vomlghs E 00000 b9

Tronspersaionue; ihimrs B S5 hine. Dmarveians b S { | ko mamees. harenin S DI el ks offobrwlin S,

Figure 7.7-15

79




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

'hf 50/ ?K 20

TERMINATION OPTIONS _ O4/- TEC- 57 50-088 {Ws&m wm;

put. & Chawsy

Oupa T -DO e

Wm & =00 et
o

£ &y a4

B A gt
grgp

e

®

Lautizn. .

HPUT AND DUTPUT MEEES
HEPYT VOLTALE AANGE ey o

F o B . Sk, Siow Blisw P

|lssslssslsasias|asls

#® = o i MRS

2igkﬁ e

Zif

Bor i, WMMWM& mawm T skibpides ootk DD SR Gridelings Be maiatinn ang




BREWER MKIII Spectrophotometer Maintenance and Service Manual

T SONRE § OV NG HR IR g Bl WasEY AR M OAYER Teviend resy ¥
FDUWRT URIRVE PR B SpI ALY EL RS GRS A RS N LR P R
K TGNFEEF S8 WO WP FIRE ERE O melie W
FHPRY WATVEST B A2 B SN BAD T Rht MBI oy PR
T RS SRRRRT P O NRANG WY FEf e mr gl Feempesh BT ¥
: fbo o

81

Figura 7.7-2.1




BREWER MKIII Spectrophotometer Maintenance and Service Manual

0l
ML ML ASRY = PSCHEC 2 c e
ox [y T S
.::..'.It 9‘:5‘5'8 D oa e (ecrey | PSTRUMENIS i, e il
|w Tokee 0y s mmm ] MILE:
) ernts ™ HEATER /FaN
Pt amd 485 ™ MOUNTING KIT
i i
marar arns . LT {tome et v
——— 1 TR [

Figura 7.7-3.1




BREWER MKIIl Spectrophotometer Maintenance and Service Manual

Section 7.8 Main Bectronics Frmware/ Configuration Loading procedures

This procedure is used to upload Pew firmware for the New Brewer
Hlectronics or to update the configuration files stored in flash rremory.
The only time this procedure is required is if the firmware has been
comupted due to dectrical surges or the memory had been replaced or if
the configuration has changed due to sarme physical changes to the
sensor settings or position stops.

Restore Back to COSMAC Mode

In certain circumstances where the signal line is placed in a permanent
Break signal condition, the Brewer will cortinually try to reset but
eventually it has determined that there is a prodlem and it will halt trying
to reset and go into Loadmode. This fault can happen when the RS422
cable has been incorrectly wired or has shorted together to simuate a
break condition. To confirm that the processor is actually in loadmode,
remove the weather procf cover of the Brewer and lock down into the:
Main dlectronics board between the cover plate and the microprocessor
beard. You should see aflashing LED light and if it is in loadmode, it will
be flashing quickly in 1/4 second intervals. The procedure to restore the
systermn back to the Cosmmaamode of operation is as follows:

Bxit out of the Brewer operating program to Dos

Take the supplied configuration disk and put it into the computer used to
reconfigure the Brewer.

Capy the files from the fioppy disk a: \lxdata\xrmmn to the

e: \bdata\nm subdirectory using the command

copy a:\bdatal\rmmn\*.* c:‘\bdata\xrm[

Change o the directory c\bdatarrn by typing the command <d
\bdata\nmn[]

Run the program Brewormd.exe by typing brewarmd v This program
is a utility to aliow the user to communicate to the Brewer Microprocessor
and change cperating modes or upload files.

If all the connectiors are correct, the display will reply that Brewer
responded and at what baud rate it is communicating at. [using load
moda at 9600 baud; on port 1; tracing is off]

It is expected thet it will be in Loadmode but it could be in Oomode as
wall.

To retum it to its normmal operating mode, type cosmacmode |

The instrument will reset itself by resetting all of its motors and the
display will display the fdlowing with other status infformation.

Motors Imitializing.

When the instrument has completed resetting all of the motors, the
display will now respond to low level commands.



BREWER MK Spectrophotometer Maintenance and Service Manual

Exit out of the Brewemd program by typing quit [ve]  and the computer
will have retumed to the dos prompt.

Run the Brewer operating program and then ensure the time and date is
oorrect.

Nevv Configuration Uploac]

If hardware changes have been made such as removing the zenith dive
gear or adiusting the micrometer drive sensor mask, then correct values
for zero dffset and ather parameters must be uplcaded to the instrument
for it to operate correctly. The procedure to upload the new configuration
file is listed below:

The configuration file that describes the characteristics of the instrument
is named BREWNm.cfg. The nnn will be the instrument number. This file
is an ASCII text file that describes all the technical parameters of this
particular instrument. This very same file should be uploaded to ary
replacerment Brewer Main Electronics board fdlowing the physical
installation of the board. A spare Brewer Main Bectronics board will
nommally be sent with the latest corfiguration file stored at SCI-TEC. If the
customer has changed any parameters in the field, it will not be
corfigured into that board and the custormer will have to upload the latest
file as described below:

Change to the directory c:\bdatavnn by typing the command
od \bdata\rmm[m|

Run Brewernd.exe by typing brewmd[ms]

[using cosmomoda at 1200 band; on port 1; tracing is
off ]1should be dsplayed

Type loadmode [v]  to change modes.

waiting for the mode change to camplete and when
complete, the display will dsplay [using load mode at 1200
baud; on port 1; tracing is off ]

Go into Opmode by typing cemode 9600 (]

Trying Operating mode at 9600 band is displayed until the
display will dsplay [using operating mode at 9600 band; on
port 1; tracing is off ]

Send the corfiguration file to the microprocessor by typing putcefg
Tarewmmm . cfg (mnis the instrument number)

Wait approximately one minute to transfer
Type readlog =]  todear the log buffer
Typeuseconfig [vf] motors should now reset

When conplete readlog [#]  to see if errors were encountered.
Contact SCI-TEC if the log displays a problem.



BREWER MKl Spectrophotometer Maintenance and Sernvice Manual

Type save 5] a number should appear. This tell you how meny
configuration writes you have left.

If the number is ‘1’ then the next time a configuration is sent, the top
firrware must be written to Rash memory and  the configuration area is
cleared to alow ancther 4 blocks of configuration files.

Go to Load mode by typing Loadmode ]

Waiting for mode change to conmplete arnd

Trying load mode at 9600 bemd is displayed until the display will
display [using load mode at 9600 baud; on port 1;
tracing is off ]

Go into Cosmacrmode by typing cosmacmode i

Reading Cosmac mode reset message

waiting for mode change to camlete

Trying Cosmac mode at 1200 bamd

Motors Imitializing

These are some of the messages seen while going into the Cosmac
mode.

Motors should reset and it is ready to run the bremer operating program
type quit]  toget out of Breword
To run the Brewer operating program type BREWER ]

Uploading new Firmware and configurationfiles.

As SCI-TEC develops new finmware and features, it is now possible for
the custormer to upgrade the fimmware without having to open the cover to
the Brewer. The New Electronics has incorporated Flash dlectrically
erasable program memory and the systemis capable of being updated
from the PC. The procedure below will provide a step by step process to
udlcad the firrmvare and also upload the configuration file which is erased
when the newfirvwmare is loaded.

This disk is supplied with the instrument when first delivered or will be
sent out to the customer when finmware updates are done.

Copy the new top.bin or topvir# bin firmware file received from SCI-TEC
to the e: \bdata\rorm subdirectory.

Change to the directary c\bdatavrn by typing the command
od \bdata\mm

Run Brewcrnd.exe by typing brewcmd ]
Bventually the following staterment is displayed:

85



BREWER MKIIl Spectrophotometer Maintenance and Senvice Manual

[using cos=mac mode at 1200 baad; on port 1; tracing is

off 1shoud be displayed. If the command helpvs is entered, a list
of available commands will be displayed.

Type loadmode[]  to change modes.
BEventually the following staterment is displayed:

[using loadmeda at 1200 baud; on port 1; tracing is
off 1

Type loadmods 4800
BEventually the following statement is displayed:

[using loadmode at 4800 beuad; on port 1; tracing is
off ]

Type load top.bin or topvikc#.bin[wo

Wait until this task is completed (this will take a few minutes).
The display will display some messages below:

Erasing Flash memory

Writing file top.bin to flash ...

The display will show 112 moving daots to show its progress
Exit from the program by typing escit [

Tum off the power of the instrument for approximately 10 seconds and
tum it back on.

Run the Brewornd program by typing bressowd[rrs] — Go into Opmode by
typing opmode 9600 o]

Waiting for mode change to complete is displayed and
eventualy the fan tums on if the heater option is ordered and the display
will eventually display [using opmode at 9600 baud; on port
1; tracdng is off ]

Type readlogi]  to display any ermors encountered.

Send the configuration file to the microprocessor by typing putcfg
b::emm.cfg

Wait a 1.5minutes totransfer

Type readlogfns]  to dear the log buffer and see if any errors ooccurred
during the configuration installation.

Type usecanfig motors should now initialize.
When conplete readlog =  to corfirm everything is ok

Type save ] a nurmber should appear. This tell you how many
cenfiguration whites you have left.



BREWER MKl Spectrophotometer Maintenance and Service Manual

The number is ‘4’ should be dsplayed.
Go to Load mode by typing Loadmode oz

The display will eventually dsplay [using load mode at 9600
benyd; on port 1; tracing is off ]

Go into Cosmacmode by typing cosmacmode [
A number of messages will appear and eventually the motors should
initialize and it is ready to run the brevwer operating program and display

[using cosmac mode at 1200 bauad; an poxrt 1; tracing is
off ]

type quit[ve| o get out of Brewornd

To run the Brewer operating program type BREWERT

87



